Bid #PNC2127807C1 - Fort Lauderdale-Hollywood International Airport Exit Roadway Improvements

Start Date Apr 5, 2024 11:20:17 AM EDT Awarded Date Not Yet Awarded

PNC2127807C101-01 Imported Item Lot: BONDS AND INSURANCE									
Supplier	Unit Price	te Qty/Unit Total Price Attch. Doc							
Home Express Corp 👔	First Offer - \$353,573.33	1 / lump sum	\$353,573.33	Y	Υ				
Product Code:	Supplier Product Code:								
Agency Notes:		Supplier Notes:							
FG Construction LLC	First Offer - \$401,651.16	1 / lump sum	\$401,651.16	Υ	Y				
Product Code:		Supplier Product Code:							
Agency Notes:		Supplier Notes:							
MCM 🙀	First Offer - \$979,000.00	1 / lump sum	\$979,000.00	Y	Y				
Product Code:		Supplier Product Code	e:						
Agency Notes:		Supplier Notes:							

PNC2127807C101-02 Imported Item Lot: EXCESS PERFORMANCE AND PAYMENT BONDS, INSURANCE AND MOBILIZATION									
Supplier	Unit Price	e Qty/Unit Total Price Attch. Doc							
Home Express Corp	First Offer - \$116,000.00	1 / lump sum	\$116,000.00		Y				
Product Code:	Supplier Product Code:								
Agency Notes:		Supplier Notes:							
FG Construction LLC	First Offer - \$989,269.16	1 / lump sum	\$989,269.16	Y	Y				
Product Code:		Supplier Product Cod	e:						
Agency Notes:		Supplier Notes:							
мсм 🙀	First Offer - \$2,575,000.00	1 / lump sum	\$2,575,000.00		Y				
Product Code:		Supplier Product Cod	e:						
Agency Notes:		Supplier Notes:							

PNC2127807C101-03 Imported Item Lot: MOBILIZATION									
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs				
Home Express Corp	First Offer - \$586,478.94	1 / lump sum	\$586,478.94		Y				
Product Code:		Supplier Product Cod	e:						
Agency Notes:		Supplier Notes:							
FG Construction LLC	First Offer - \$669,418.59	1 / lump sum	\$669,418.59	Υ	Y				
Product Code:		Supplier Product Code:							
Agency Notes:		Supplier Notes:							
MCM 🙀	First Offer - \$1,000,000.00	1 / lump sum	\$1,000,000.00		Y				
Product Code:		Supplier Product Code:							
Agency Notes:		Supplier Notes:							

PNC2127807C101-04 Imported Item Lot: MAINTENANCE OF TRAFFIC										
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs					
MCM 🙀	First Offer - \$303,000.00	1 / lump sum	\$303,000.00		Υ					
Product Code:		Supplier Product Code	e:							
Agency Notes:		Supplier Notes:								
Home Express Corp	First Offer - \$358,001.74	1 / lump sum	\$358,001.74		Υ					
Product Code:		Supplier Product Code	e:							

Agency Notes:		Supplier Notes:			
FG Construction LLC	First Offer - \$406,664.94	1 / lump sum	\$406,664.94	Υ	Y
Product Code:		Supplier Product Code	e:		
Agency Notes:		Supplier Notes:			

PNC2127807C101-05 Imported Item Lot: GEOTECHNICAL TESTING, INCLUDES DENSITY TESTS AND PROCTORS									
Supplier	Unit Price	e Qty/Unit Total Price Attch. Docs							
Home Express Corp	First Offer - \$60,960.95	1 / lump sum	\$60,960.95		Υ				
Product Code:		Supplier Product Code	e:						
Agency Notes:		Supplier Notes:							
FG Construction LLC	First Offer - \$84,004.03	1 / lump sum	\$84,004.03		Υ				
Product Code:		Supplier Product Code	e:						
Agency Notes:		Supplier Notes:							
мсм 🙀	First Offer - \$179,000.00	1 / lump sum	\$179,000.00		Υ				
Product Code:		Supplier Product Code	e:						
Agency Notes:		Supplier Notes:							

PNC2127807C101-06 Imported Item Lot:	WATER MAIN TESTING						
Supplier	Unit Price	e Qty/Unit Total Price Attch. Doc					
мсм 📦	First Offer - \$4,400.00	1 / lump sum	\$4,400.00		Y		
Product Code: Supplier Product Code:							
Agency Notes:		Supplier Notes:					
Home Express Corp 👔	First Offer - \$14,462.86	1 / lump sum	\$14,462.86		Y		
Product Code:		Supplier Product Code:					
Agency Notes:		Supplier Notes:					
FG Construction LLC	First Offer - \$19,936.95	1 / lump sum	\$19,936.95		Y		
Product Code:		Supplier Product Code	e:				
Agency Notes:		Supplier Notes:					

PNC2127807C101-07 Imported Item Lot:	FORCE MAIN TESTING						
Supplier	Unit Price	e Qty/Unit Total Price Attch. Doc					
мсм 📦	First Offer - \$4,400.00	1 / lump sum	\$4,400.00		Y		
Product Code:		Supplier Product Code	e:				
Agency Notes:		Supplier Notes:					
Home Express Corp 👔	First Offer - \$14,462.86	1 / lump sum	\$14,462.86		Y		
Product Code:		Supplier Product Code:					
Agency Notes:		Supplier Notes:					
FG Construction LLC	First Offer - \$45,306.17	1 / lump sum	\$45,306.17		Y		
Product Code:		Supplier Product Code	e:				
Agency Notes:		Supplier Notes:					

PNC2127807C101-08 Imported Item Lot:	PNC2127807C101-08 Imported Item Lot: Furnish and Install (F & I) 8-INCH. DUCTILE IRON PIPE (DIP). INCLUDES ALL INSTAL								
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs				
MCM 🙀	First Offer - \$220.00	345 / linear foot	\$75,900.00		Y				
Product Code:		Supplier Product Code:							
Agency Notes:		Supplier Notes:							
Home Express Corp	First Offer - \$272.57	345 / linear foot	\$94,036.65		Y				
Product Code:		Supplier Product Code:							
Agency Notes:		Supplier Notes:							
FG Construction LLC	First Offer - \$793.00	345 / linear foot	\$273,585.00		Y				

Product Code: Supplier Product Code: Supplier Notes: Supplier Notes:

PNC2127807C101-09 Imported Item Lot: F & I, 8-INCH. PLUG VALVE. INCLUDES ALL INSTALLATION COMPONENTS.									
Supplier	Unit Price	e Qty/Unit Total Price Attch. Docs							
Home Express Corp	First Offer - \$2,791.05	1 / each	\$2,791.05		Υ				
Product Code:		Supplier Product Cod	e:						
Agency Notes:		Supplier Notes:							
FG Construction LLC	First Offer - \$10,416.50	1 / each	\$10,416.50		Υ				
Product Code:		Supplier Product Code:							
Agency Notes:		Supplier Notes:							
мсм 🙀	First Offer - \$12,500.00	1 / each	\$12,500.00		Υ				
Product Code:		Supplier Product Code:							
Agency Notes:		Supplier Notes:							

PNC2127807C101-10 Imported Item Lot:	F & I, 8-INCH. x 8-INCH. TAPP	ING SLEEVE AND VALV	E. INCLUDES ALL INST	ALLATION (co		
Supplier	Unit Price	e Qty/Unit Total Price Attch. Do					
Home Express Corp 👔	First Offer - \$6,691.27	2 / each	\$13,382.54		Y		
Product Code: Suppli			e:				
Agency Notes:		Supplier Notes:					
мсм 🙀	First Offer - \$14,300.00	2 / each	\$28,600.00		Y		
Product Code:		Supplier Product Code:					
Agency Notes:		Supplier Notes:					
FG Construction LLC	First Offer - \$20,889.00	2 / each	\$41,778.00		Y		
Product Code:	Supplier Product Code:						
Agency Notes:		Supplier Notes:					

PNC2127807C101-11 Imported Item Lot: F & I, 8-INCH. 45 DEGREE HORIZONTAL BEND. INCLUDES ALL INSTALLATION COMPONENTS.									
Supplier	Unit Price	Qty/Unit Total Price Attch. Docs							
Home Express Corp	First Offer - \$1,203.06	4 / each	\$4,812.24		Y				
Product Code: Supplier Product Code:									
Agency Notes:		Supplier Notes:							
мсм 🙀	First Offer - \$3,200.00	4 / each	\$12,800.00		Y				
Product Code:		Supplier Product Code:							
Agency Notes:		Supplier Notes:							
FG Construction LLC	First Offer - \$3,556.17	4 / each	\$14,224.68		Y				
Product Code:		Supplier Product Code:							
Agency Notes:		Supplier Notes:							

PNC2127807C101-12 Imported Item Lot: F & I, 8-INCH. 22.5 DEGREE HORIZONTAL BEND. INCLUDES ALL INSTALLATION COMPONENTS									
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs				
Home Express Corp	First Offer - \$1,203.06	1 / each	\$1,203.06		Y				
Product Code:		Supplier Product Code:							
Agency Notes:		Supplier Notes:							
мсм 🙀	First Offer - \$3,200.00	1 / each	\$3,200.00		Y				
Product Code:		Supplier Product Code:							
Agency Notes:		Supplier Notes:							
FG Construction LLC	First Offer - \$3,444.17	1 / each	\$3,444.17		Y				
Product Code:		Supplier Product Code	e:						
Agency Notes:		Supplier Notes:							

PNC2127807C101-13 Imported Item Lot: F & I, 8-INCH. 11.25 DEGREE HORIZONTAL BEND. INCLUDES ALL INSTALLATION COMPONENT								
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs			
Home Express Corp	First Offer - \$1,203.06	1 / each	\$1,203.06		Y			
Product Code:	Supplier Product Code:							
Agency Notes:		Supplier Notes:						
MCM 🙀	First Offer - \$3,200.00	1 / each	\$3,200.00		Y			
Product Code:		Supplier Product Code:						
Agency Notes:		Supplier Notes:						
FG Construction LLC	First Offer - \$3,472.16	1 / each	\$3,472.16		Y			
Product Code:		Supplier Product Code	e:					
Agency Notes:		Supplier Notes:						

PNC2127807C101-14 Imported Item Lot:	F & I, 8-INCH. 11.25 DEGREE	VERTICAL BEND. INCLU	JDES ALL INSTALLATIO	N COMPON	JENTS.	
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs	
Home Express Corp	First Offer - \$1,203.06	2 / each	\$2,406.12		Y	
Product Code:		Supplier Product Code	e:			
Agency Notes:		Supplier Notes:				
мсм 🙀	First Offer - \$2,300.00	2 / each	\$4,600.00		Y	
Product Code:		Supplier Product Code:				
Agency Notes:		Supplier Notes:				
FG Construction LLC	First Offer - \$4,732.22	2 / each	\$9,464.44		Y	
Product Code:		Supplier Product Code	e:			
Agency Notes:		Supplier Notes:				

PNC2127807C101-15 Imported Item Lot:	F & I, 8-INCH. 45 DEGREE VEF	RTICAL BEND. INCLUDE	S ALL INSTALLATION (OMPONEN	ITS.	
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs	
Home Express Corp 👔	First Offer - \$1,203.06	10 / each	\$12,030.60		Υ	
Product Code:		Supplier Product Code:				
Agency Notes:		Supplier Notes:				
мсм 📦	First Offer - \$2,800.00	10 / each	\$28,000.00		Y	
Product Code:		Supplier Product Code:				
Agency Notes:		Supplier Notes:				
FG Construction LLC 👔	First Offer - \$4,844.23	10 / each	\$48,442.30		Υ	
Product Code:		Supplier Product Code:				
Agency Notes:		Supplier Notes:				

PNC2127807C101-16 Imported Item Lot: REMOVE EXISTING 8-INCH. DIP. CUT & INSTALL PLUG									
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs				
MCM 🙀	First Offer - \$45.00	700 / linear foot	\$31,500.00		Y				
Product Code:		Supplier Product Code:							
Agency Notes:		Supplier Notes:							
FG Construction LLC	First Offer - \$120.97	700 / linear foot	\$84,679.00		Y				
Product Code:		Supplier Product Code:							
Agency Notes:		Supplier Notes:							
Home Express Corp	First Offer - \$187.02	700 / linear foot	\$130,914.00		Y				
Product Code:		Supplier Product Code:							
Agency Notes:		Supplier Notes:							

PNC2127807C101-17 Imported Item Lot: F & I, 8-INCH. INSERTION VALVE. INCLUDES ALL INSTALLATION COMPONENTS.					

Page 8				Page 5 of	54
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
Home Express Corp	First Offer - \$9,470.55	2 / each	\$18,941.10		Υ
Product Code:		Supplier Product Code	e:		
Agency Notes:		Supplier Notes:			
MCM 🙀	First Offer - \$27,800.00	2 / each	\$55,600.00		Y
Product Code:		Supplier Product Code:			
Agency Notes:		Supplier Notes:			
FG Construction LLC	First Offer - \$36,513.75	2 / each	\$73,027.50		Υ
Product Code:		Supplier Product Code	e:		
Agency Notes:		Supplier Notes:			

PNC2127807C101-18 Imported Item Lot: MODIFICATION OF EXISTING MAINTENACE ACCESS STRUCTURE									
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs				
Home Express Corp	First Offer - \$9,280.59	1 / each	\$9,280.59		Y				
Product Code:		Supplier Product Cod	e:						
Agency Notes:		Supplier Notes:							
мсм 🙀	First Offer - \$11,500.00	1 / each	\$11,500.00		Y				
Product Code:		Supplier Product Code:							
Agency Notes:		Supplier Notes:							
FG Construction LLC	First Offer - \$32,257.54	1 / each	\$32,257.54		Υ				
Product Code:		Supplier Product Code:							
Agency Notes:		Supplier Notes:							

PNC2127807C1–01-19 Imported Item Lot: F & I, 6-INCH. DIP. INCLUDES ALL INSTALLATION COMPONENTS.									
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs				
Home Express Corp	First Offer - \$77.42	39 / linear foot	\$3,019.38		Y				
Product Code:		Supplier Product Code:							
Agency Notes:		Supplier Notes:							
мсм 🙀	First Offer - \$310.00	39 / linear foot	\$12,090.00		Y				
Product Code:		Supplier Product Code:							
Agency Notes:		Supplier Notes:							
FG Construction LLC	First Offer - \$687.71	39 / linear foot	\$26,820.69		Y				
Product Code:		Supplier Product Code:							
Agency Notes:		Supplier Notes:							

PNC2127807C101-20 Imported Item Lot: REMOVE EXISTING 4-INCH. DIP ABANDONED IN PLACE									
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs				
MCM 🙀	First Offer - \$135.00	29 / linear foot	\$3,915.00		Y				
Product Code:		Supplier Product Code:							
Agency Notes:		Supplier Notes:							
FG Construction LLC	First Offer - \$272.17	29 / linear foot	\$7,892.93		Y				
Product Code:		Supplier Product Code:							
Agency Notes:		Supplier Notes:							
Home Express Corp	First Offer - \$283.36	29 / linear foot	\$8,217.44		Y				
Product Code:		Supplier Product Code:							
Agency Notes:		Supplier Notes:							

PNC2127807C101-21 Imported Item Lot: REMOVE EXISTING 6-INCH. DIP ABANDONED IN PLACE							
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs		
мсм 🙀	First Offer - \$220.00	36 / linear foot	\$7,920.00		Υ		

				Page 6 of 5		
Product Code:		Supplier Product Code:		-		
Agency Notes:		Supplier Notes:				
FG Construction LLC	First Offer - \$231.85	36 / linear foot	\$8,346.60		Υ	
Product Code:		Supplier Product Code:				
Agency Notes:		Supplier Notes:				
Home Express Corp	First Offer - \$283.36	36 / linear foot	\$10,200.96		Y	
Product Code:		Supplier Product Code:				
Agency Notes:		Supplier Notes:				

PNC2127807C101-22 Imported Item Lot: F & I, 6-INCH. GATE VALVE. INCLUDES ALL INSTALLATION COMPONENTS.									
Supplier	Unit Price	e Qty/Unit Total Price Attch. Doo							
Home Express Corp 👔	First Offer - \$2,533.35	4 / each	\$10,133.40		Y				
Product Code:		Supplier Product Code	e:						
Agency Notes:		Supplier Notes:							
мсм 📦	First Offer - \$4,600.00	4 / each	\$18,400.00		Y				
Product Code:		Supplier Product Code:							
Agency Notes:		Supplier Notes:							
FG Construction LLC	First Offer - \$6,496.31	4 / each	\$25,985.24		Y				
		Supplier Product Code Supplier Notes:	e:						

PNC2127807C101-23 Imported Item Lot: REMOVE EXISTING FIRE HYDRANT										
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs					
мсм 🙀	First Offer - \$2,860.00	2 / each	\$5,720.00		Υ					
Product Code:	Supplier Product Cod	e:								
Agency Notes:		Supplier Notes:								
Home Express Corp	First Offer - \$5,019.47	2 / each	\$10,038.94		Y					
Product Code:		Supplier Product Code:								
Agency Notes:		Supplier Notes:								
FG Construction LLC	First Offer - \$15,120.73	2 / each	\$30,241.46		Υ					
Product Code:		Supplier Product Code:								
Agency Notes:		Supplier Notes:								

PNC2127807C101-24 Imported Item Lot: FIRE HYDRANT ASSEMBLY										
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs					
Home Express Corp	First Offer - \$4,008.41	2 / each	\$8,016.82		Y					
Product Code:	Supplier Product Cod	e:								
Agency Notes:		Supplier Notes:								
мсм 🙀	First Offer - \$14,000.00	2 / each	\$28,000.00		Y					
Product Code:		Supplier Product Code:								
Agency Notes:		Supplier Notes:								
FG Construction LLC	First Offer - \$32,565.56	2 / each	\$65,131.12		Y					
Product Code:		Supplier Product Code:								
Agency Notes:		Supplier Notes:								

PNC2127807C101-25 Imported Item Lot: F & I, 12-INCH. x 6-INCH. TAPPING SLEEVE AND VALVE. INCLUDES ALL INSTALLATION C									
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs				
Home Express Corp	First Offer - \$5,017.06	1 / each	\$5,017.06		Y				
Product Code:		Supplier Product Code:							
Agency Notes:		Supplier Notes:							
	First Offer - \$20,440.98	1 / each	\$20,440.98		Y				

	- , -			rage / Oi	54
FG Construction LLC					
Product Code:		Supplier Product Cod	e:		
Agency Notes:		Supplier Notes:			
МСМ 🙀	First Offer - \$22,500.00	1 / each	\$22,500.00		Y
Product Code:		Supplier Product Cod	e:		
Agency Notes:		Supplier Notes:			

PNC2127807C1-01-26 Imported Item Lot: F & I, 2-INCH. X 6-INCH. INCREASER. INCLUDES ALL INSTALLATION COMPONENTS.									
Supplier	Unit Price	e Qty/Unit Total Price Attch. Docs							
Home Express Corp	First Offer - \$445.38	1 / each	\$445.38		Y				
		Supplier Product Code: Supplier Notes:							
FG Construction LLC	First Offer - \$2,324.11	1 / each	\$2,324.11		Y				
Product Code:		Supplier Product Code:							
Agency Notes:		Supplier Notes:							
мсм 🙀	First Offer - \$2,700.00	1 / each	\$2,700.00		Y				
Product Code:		Supplier Product Code:							
Agency Notes:	Supplier Notes:								

PNC2127807C101-27 Imported Item Lot: F & I, 6-INCH. PLUG VALVE. INCLUDES ALL INSTALLATION COMPONENTS.									
Supplier	Unit Price	e Qty/Unit Total Price Attch. Doc							
Home Express Corp	First Offer - \$3,830.26	1 / each	\$3,830.26		Y				
Product Code:	Supplier Product Cod	e:							
Agency Notes:		Supplier Notes:							
мсм 🙀	First Offer - \$4,600.00	1 / each	\$4,600.00		Y				
Product Code:		Supplier Product Code:							
Agency Notes:		Supplier Notes:							
FG Construction LLC	First Offer - \$10,360.50	1 / each	\$10,360.50		Y				
Product Code:		Supplier Product Code:							
Agency Notes:	Supplier Notes:								

PNC2127807C101-28 Imported Item Lot: I	& I, 6-INCH. 45 DEGREE HO	RIZONTAL BEND. INCL	UDES ALL INSTALLATION	ОП СОМРО	NENTS.	
Supplier	Unit Price	Qty/Unit Total Price Attch. Do				
Home Express Corp 👔	First Offer - \$1,088.10	1 / each	\$1,088.10		Y	
Product Code:	Supplier Product Code	e:				
Agency Notes:		Supplier Notes:				
мсм 📦	First Offer - \$2,860.00	1 / each	\$2,860.00		Υ	
Product Code:		Supplier Product Code:				
Agency Notes:		Supplier Notes:				
FG Construction LLC	First Offer - \$3,024.14	1 / each	\$3,024.14		Y	
Product Code:		Supplier Product Code:				
		Supplier Notes:				

PNC2127807C101-29 Imported Item Lot: F & I, AUTOMATIC BLOW OFF ASSEMBLY									
Supplier		Unit Price	Qty/Unit Total Price Attch.						
Home Express Corp 👔		First Offer - \$7,716.50	1 / each	\$7,716.50		Υ			
Product Code:			Supplier Product Code:						
Agency Notes:			Supplier Notes:						
мсм 📦		First Offer - \$12,400.00	1 / each	\$12,400.00		Υ			
Product Code:		Supplier Product Code:							

Agency Notes:		Supplier Notes:		
FG Construction LLC	First Offer - \$14,420.70	1 / each	\$14,420.70	Y
Product Code:		Supplier Product Code	e:	
Agency Notes:		Supplier Notes:		

PNC2127807C101-30 Imported Item Lot: REMOVE BLOWOFF ASSEMBLY										
Supplier	Unit Price	e Qty/Unit Total Price Attch. Do								
мсм 📦	First Offer - \$3,550.00	1 / each	\$3,550.00		Y					
Product Code:		Supplier Product Code	e:							
Agency Notes:		Supplier Notes:								
Home Express Corp	First Offer - \$4,420.35	1 / each	\$4,420.35		Y					
Product Code:		Supplier Product Code:								
Agency Notes:		Supplier Notes:								
FG Construction LLC	First Offer - \$4,424.21	1 / each	\$4,424.21		Y					
Product Code:		Supplier Product Code:								
Agency Notes:		Supplier Notes:								

PNC2127807C101-31 Imported Item Lot:	F & I, 6-INCH. x 4-INCH. TAPP	ING SLEEVE AND VALV	E. INCLUDES ALL INST	ALLATION (СОМ	
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs	
Home Express Corp	First Offer - \$2,418.41	1 / each	\$2,418.41		Y	
Product Code:		Supplier Product Cod	e:			
Agency Notes:		Supplier Notes:				
FG Construction LLC	First Offer - \$17,024.82	1 / each	\$17,024.82		Y	
Product Code:		Supplier Product Code:				
Agency Notes:		Supplier Notes:				
MCM 🙀	First Offer - \$19,200.00	1 / each	\$19,200.00		Y	
Product Code:		Supplier Product Code:				
		Supplier Notes:				

PNC2127807C101-32 Imported Item Lot: F & I, 4-INCH. DIP. INCLUDES ALL INSTALLATION COMPONENTS.									
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs				
Home Express Corp 👔	First Offer - \$126.16	5 / linear foot	\$630.80		Y				
Product Code:		Supplier Product Code	e:						
Agency Notes:		Supplier Notes:							
мсм 🙀	First Offer - \$770.00	5 / linear foot	\$3,850.00		Y				
Product Code:		Supplier Product Code:							
Agency Notes:		Supplier Notes:							
FG Construction LLC	First Offer - \$1,994.82	5 / linear foot	\$9,974.10		Y				
Product Code:		Supplier Product Code:							
Agency Notes:		Supplier Notes:							

PNC2127807C101-33 Imported Item Lot: F & I, FIRE DEPARMENT CONNECTION									
Supplier	Unit Price	e Qty/Unit Total Price Attch. D							
Home Express Corp	First Offer - \$1,950.76	1 / each	\$1,950.76		Y				
Product Code: Agency Notes:	Supplier Product Code: Supplier Notes:								
MCM 🙀	First Offer - \$4,030.00	1 / each	\$4,030.00		Y				
Product Code: Agency Notes:		Supplier Product Cod Supplier Notes:	e:						
FG Construction LLC	First Offer - \$14,112.68	1 / each	\$14,112.68		Y				

PNC2127807C101-34 Imported Item Lot: GRINDER PUMP STATION									
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs				
Home Express Corp	First Offer - \$105,218.24	1 / each	\$105,218.24		Y				
Product Code:		Supplier Product Cod	e:						
Agency Notes:		Supplier Notes:							
мсм 🙀	First Offer - \$180,000.00	1 / each	\$180,000.00		Y				
Product Code:		Supplier Product Code:							
Agency Notes:		Supplier Notes:							
FG Construction LLC	First Offer - \$219,306.52	1 / each	\$219,306.52		Y				
		Supplier Product Code: Supplier Notes:							

PNC2127807C101-35 Imported Item Lot: F & I, 2-INCH. HDPE DR11 INCLUDES ALL INSTALLATION COMPONENTS.										
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs					
Home Express Corp	First Offer - \$35.19	899 / linear foot	\$31,635.81		Υ					
Product Code:		Supplier Product Code:								
Agency Notes:		Supplier Notes:								
мсм 🙀	First Offer - \$45.00	899 / linear foot	\$40,455.00		Y					
Product Code:		Supplier Product Code:								
Agency Notes:		Supplier Notes:								
FG Construction LLC	First Offer - \$103.05	899 / linear foot	\$92,641.95		Y					
Product Code:		Supplier Product Code:								
Agency Notes:		Supplier Notes:								

PNC2127807C101-36 Imported Item Lot: F & I, 2-INCH. PE. INCLUDES ALL INSTALLATION COMPONENTS.									
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs				
Home Express Corp 👔	First Offer - \$35.19	11 / linear foot	\$387.09		Y				
Product Code:		Supplier Product Code:							
Agency Notes:		Supplier Notes:							
MCM 🙀	First Offer - \$235.00	11 / linear foot	\$2,585.00		Y				
Product Code:		Supplier Product Code:							
Agency Notes:		Supplier Notes:							
FG Construction LLC	First Offer - \$380.82	11 / linear foot	\$4,189.02		Υ				
Product Code:		Supplier Product Code:							
Agency Notes:		Supplier Notes:							

PNC2127807C101-37 Imported Item Lot: F & I, 2-INCH. GATE VALVE. INCLUDES ALL INSTALLATION COMPONENTS.									
Supplier	Unit Price	Qty/Unit Total Price Attch. Doc							
Home Express Corp	First Offer - \$1,291.60	1 / each	\$1,291.60		Y				
Product Code:		Supplier Product Code:							
Agency Notes:		Supplier Notes:							
FG Construction LLC	First Offer - \$2,492.12	1 / each	\$2,492.12		Y				
Product Code:		Supplier Product Code:							
Agency Notes:		Supplier Notes:							
MCM 🙀	First Offer - \$2,760.00	1 / each	\$2,760.00		Y				
Product Code:		Supplier Product Code	e:						
Agency Notes:		Supplier Notes:							

PNC2127807C101-38 Imported Item Lot: REMOVE EXISTING 3-INCH. PE. ABANDON IN PLACE									
Supplier	Unit Price	e Qty/Unit Total Price Attch. D							
мсм 🙀	First Offer - \$31.00	158 / linear foot	\$4,898.00		Υ				
Product Code:		Supplier Product Code:							
Agency Notes:		Supplier Notes:							
FG Construction LLC	First Offer - \$77.28	158 / linear foot	\$12,210.24		Y				
Product Code:		Supplier Product Code:							
Agency Notes:		Supplier Notes:							
Home Express Corp	First Offer - \$196.99	158 / linear foot	\$31,124.42		Υ				
Product Code:		Supplier Product Code:							
Agency Notes:		Supplier Notes:							

PNC2127807C101-39 Imported Item Lot: REMOVE EXISTING 4-INCH. PVC. ABANDON IN PLACE										
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs					
мсм 🙀	First Offer - \$35.00	178 / linear foot	\$6,230.00		Υ					
Product Code:		Supplier Product Code:								
Agency Notes:		Supplier Notes:								
FG Construction LLC	First Offer - \$77.28	178 / linear foot	\$13,755.84		Y					
Product Code:		Supplier Product Code:								
Agency Notes:		Supplier Notes:								
Home Express Corp	First Offer - \$187.02	178 / linear foot	\$33,289.56		Υ					
Product Code:		Supplier Product Code:								
Agency Notes:		Supplier Notes:								

PNC2127807C101-40 Imported Item Lot: F & I, 6-INCH. PVC. INCLUDES ALL INSTALLATION COMPONENTS.									
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs				
мсм 📦	First Offer - \$267.00	60 / linear foot	\$16,020.00		Y				
Product Code:		Supplier Product Code:							
Agency Notes:		Supplier Notes:							
FG Construction LLC	First Offer - \$339.38	60 / linear foot	\$20,362.80		Y				
Product Code:		Supplier Product Code:							
Agency Notes:		Supplier Notes:							
Home Express Corp 👔	First Offer - \$501.12	60 / linear foot	\$30,067.20		Y				
Product Code:		Supplier Product Code:							
Agency Notes:		Supplier Notes:							

PNC2127807C101-41 Imported Item Lot: F & I, 6-INCH. WYE. INCLUDES ALL INSTALLATION COMPONENTS.									
Supplier	Unit Price	Qty/Unit Total Price Attch. Doo							
Home Express Corp	First Offer - \$723.10	1 / each	\$723.10		Υ				
Product Code:		Supplier Product Code	e:						
Agency Notes:		Supplier Notes:							
FG Construction LLC	First Offer - \$1,316.06	1 / each	\$1,316.06		Y				
Product Code:		Supplier Product Code:							
Agency Notes:		Supplier Notes:							
MCM 🙀	First Offer - \$7,040.00	1 / each	\$7,040.00		Υ				
Product Code:		Supplier Product Code	e:						
Agency Notes:		Supplier Notes:							

PNC2127807C101-42 Imported Item Lot: 9	SANITARY SEWER CLEAN OU		

	· , ·			Page 110	1 34
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
Home Express Corp	First Offer - \$706.13	2 / each	\$1,412.26		Y
Product Code:		Supplier Product Code	e:		
Agency Notes:		Supplier Notes:			
мсм 🙀	First Offer - \$1,570.00	2 / each	\$3,140.00		Y
Product Code:		Supplier Product Code:			
Agency Notes:		Supplier Notes:			
FG Construction LLC	First Offer - \$5,208.25	2 / each	\$10,416.50		Y
Product Code:		Supplier Product Code	e:		
Agency Notes:		Supplier Notes:			

PNC2127807C101-43 Imported Item Lot: REMOVE EXISTING GATE VALVE									
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs				
мсм 🙀	First Offer - \$710.00	2 / each	\$1,420.00		Y				
Product Code:		Supplier Product Code	e:						
Agency Notes:		Supplier Notes:							
FG Construction LLC	First Offer - \$2,128.10	2 / each	\$4,256.20		Y				
Product Code:		Supplier Product Code	e:						
Agency Notes:		Supplier Notes:							
Home Express Corp	First Offer - \$7,853.03	2 / each	\$15,706.06		Y				
Product Code:		Supplier Product Code	e:						
Agency Notes:		Supplier Notes:							

PNC2127807C101-44 Imported Item Lot: F & I, 12-INCH.x 2-INCH. DOUBLE STRAP SERVICE CLAMP. INCLUDES ALL INSTALLATION C									
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs				
Home Express Corp 👔	First Offer - \$881.85	1 / each	\$881.85		Υ				
Product Code:		Supplier Product Code	e:						
Agency Notes:		Supplier Notes:							
мсм 📦	First Offer - \$4,700.00	1 / each	\$4,700.00		Y				
Product Code:		Supplier Product Code	e:						
Agency Notes:		Supplier Notes:							
FG Construction LLC 👔	First Offer - \$7,308.35	1 / each	\$7,308.35		Υ				
Product Code:		Supplier Product Code	e:						
Agency Notes:		Supplier Notes:							

PNC2127807C101-45 Imported Item Lot: F & I, 12-INCH.x 1-INCH. DOUBLE STRAP SERVICE CLAMP. INCLUDES ALL INSTALLATION C								
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs			
Home Express Corp	First Offer - \$881.85	1 / each	\$881.85		Y			
Product Code: Supplier Product Code:								
Agency Notes:		Supplier Notes:						
MCM 🙀	First Offer - \$4,700.00	1 / each	\$4,700.00		Y			
Product Code:		Supplier Product Code	e:					
Agency Notes:		Supplier Notes:						
FG Construction LLC 🙀	First Offer - \$5,292.25	1 / each	\$5,292.25		Y			
Product Code:		Supplier Product Code	e:					
Agency Notes:		Supplier Notes:						

PNC2127807C101-46 Imported Item Lot: F & I, 1-INCH. PE. INCLUDES ALL INSTALLATION COMPONENTS.							
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs		
Home Express Corp 👔	First Offer - \$2.51	76 / linear foot	\$190.76		Y		

	,			Page 12 01	04
Product Code:		Supplier Product Code:			
Agency Notes:		Supplier Notes:			
MCM 🙀	First Offer - \$105.00	76 / linear foot	\$7,980.00		Y
Product Code:		Supplier Product Code:			
Agency Notes:		Supplier Notes:			
FG Construction LLC	First Offer - \$216.17	76 / linear foot	\$16,428.92		Y
Product Code:		Supplier Product Code:			
Agency Notes:		Supplier Notes:			

PNC2127807C101-47 Imported Item Lot: F & I, 1-INCH. 90 DEGREE HORIZONTAL BEND. INCLUDES ALL INSTALLATION COMPONENTS.								
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs			
Home Express Corp	First Offer - \$22.27	1 / each	\$22.27		Y			
Product Code:		Supplier Product Code	e:					
Agency Notes:		Supplier Notes:						
FG Construction LLC	First Offer - \$386.42	1 / each	\$386.42		Y			
Product Code:		Supplier Product Code	2:					
Agency Notes:		Supplier Notes:						
MCM 🙀	First Offer - \$390.00	1 / each	\$390.00		Y			
Product Code:		Supplier Product Code	e:					
Agency Notes:		Supplier Notes:						

PNC2127807C101-48 Imported Item Lot: F & I, 1-INCH. METER. INCLUDES ALL INSTALLATION COMPONENTS.									
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs				
Home Express Corp 👔	First Offer - \$962.02	1 / each	\$962.02		Y				
Product Code:		Supplier Product Code	e:						
Agency Notes:		Supplier Notes:							
мсм 🙀	First Offer - \$1,800.00	1 / each	\$1,800.00		Y				
Product Code:		Supplier Product Code	e:						
Agency Notes:		Supplier Notes:							
FG Construction LLC	First Offer - \$2,268.11	1 / each	\$2,268.11		Y				
Product Code:		Supplier Product Code	e:						
Agency Notes:		Supplier Notes:							

PNC2127807C101-49 Imported Item Lot: F & I, 1-INCH. BACKFLOW PREVENTOR. INCLUDES ALL INSTALLATION COMPONENTS.								
Supplier	Unit Price		Total Price	Attch.	Docs			
Home Express Corp	First Offer - \$2,226.90	1 / each	\$2,226.90		Y			
Product Code:	·	Supplier Product Code	e:					
Agency Notes:		Supplier Notes:						
MCM 🙀	First Offer - \$3,680.00	1 / each	\$3,680.00		Y			
Product Code:		Supplier Product Code	e:					
Agency Notes:		Supplier Notes:						
FG Construction LLC	First Offer - \$5,152.25	1 / each	\$5,152.25		Υ			
Product Code:		Supplier Product Code	e:					
Agency Notes:		Supplier Notes:						

PNC2127807C101-50 Imported Item Lot: SPECIAL DETOUR TEMPORARY PAVEMENT								
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs			
Home Express Corp 👔	First Offer - \$71.92	588 / square yard	\$42,288.96		Y			
Product Code:		Supplier Product Code:						
Agency Notes:		Supplier Notes:						
	First Offer - \$87.00	588 / square yard	\$51,156.00		Y			

Page 13 of				54
MCM 🙀				
Product Code:	Supplier Product Code:			
Agency Notes:	Supplier Notes:			
FG Construction LLC First Offer - \$100.88	588 / square yard	\$59,317.44		Y
Product Code:	Supplier Product Code:			
Agency Notes:	Supplier Notes:			

PNC2127807C101-51 Imported Item Lot: TRAFFIC CONTROL OFFICER									
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs				
FG Construction LLC	First Offer - \$78.41	4544 / hour	\$356,295.04		Y				
Product Code:		Supplier Product Code	: :						
Agency Notes:		Supplier Notes:							
мсм 🙀	First Offer - \$82.00	4544 / hour	\$372,608.00		Y				
Product Code:		Supplier Product Code	2:						
Agency Notes:		Supplier Notes:							
Home Express Corp	First Offer - \$112.70	4544 / hour	\$512,108.80		Y				
Product Code: Agency Notes:		Supplier Product Code Supplier Notes:	e:						

PNC2127807C101-52 Imported Item Lot: LANE SEPARATOR									
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs				
FG Construction LLC	First Offer - \$27.74	60 / each	\$1,664.40		Y				
Product Code:		Supplier Product Code	e:						
Agency Notes:		Supplier Notes:							
Home Express Corp	First Offer - \$43.43	60 / each	\$2,605.80		Y				
Product Code:		Supplier Product Code	2:						
Agency Notes:		Supplier Notes:							
MCM 🙀	First Offer - \$108.00	60 / each	\$6,480.00		Y				
Product Code:		Supplier Product Code	9:						
Agency Notes:		Supplier Notes:							

PNC2127807C101-53 Imported Item Lot: WORK ZONE SIGN										
Supplier	Unit Price	Qty/Unit Total Price Attch. Do								
мсм 📦	First Offer - \$0.30	22024 / day	\$6,607.20		Y					
Product Code:		Supplier Product Code	:							
Agency Notes:		Supplier Notes:								
FG Construction LLC	First Offer - \$0.48	22024 / day	\$10,571.52		Y					
Product Code:		Supplier Product Code:								
Agency Notes:		Supplier Notes:								
Home Express Corp	First Offer - \$0.87	22024 / day	\$19,160.88		Y					
Product Code:		Supplier Product Code:								
		Supplier Notes:								

PNC2127807C101-54 Imported Item Lot: TEMPORARY BARRIER, F & I,, LOW PROFILE CONCRETE									
Supplier		Unit Price	Qty/Unit	Total Price	Attch.	Docs			
FG Construction LLC		First Offer - \$45.92	485 / linear foot	\$22,271.20		Y			
Product Code:			Supplier Product Code:						
Agency Notes:			Supplier Notes:						
мсм 🙀		First Offer - \$59.00	485 / linear foot	\$28,615.00		Y			
Product Code:			Supplier Product Code:						

Broward County Board of County Commissioners

Exhibit 1 Page 14 of 54

Agency Notes:		Supplier Notes:				
Home Express Corp	First Offer - \$77.01	485 / linear foot	\$37,349.85		Υ	
Product Code:		Supplier Product Code:				
Agency Notes:		Supplier Notes:				

PNC2127807C101-55 Imported Item Lot: TEMPORARY BARRIER, F & I,, ANCHORED										
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs					
FG Construction LLC	First Offer - \$40.32	268 / linear foot	\$10,805.76		Y					
Product Code:		Supplier Product Code:								
Agency Notes:		Supplier Notes:								
мсм 🙀	First Offer - \$52.00	268 / linear foot	\$13,936.00		Y					
Product Code:		Supplier Product Code:								
Agency Notes:		Supplier Notes:								
Home Express Corp	First Offer - \$67.62	268 / linear foot	\$18,122.16		Y					
Product Code:		Supplier Product Code:								
Agency Notes:		Supplier Notes:								

PNC2127807C101-56 Imported Item Lot: TEMPORARY BARRIER, F & I,, FREE STANDING										
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs					
FG Construction LLC	First Offer - \$58.65	714 / linear foot	\$41,876.10		Y					
Product Code:		Supplier Product Code:								
Agency Notes:		Supplier Notes:								
мсм 🙀	First Offer - \$120.00	714 / linear foot	\$85,680.00		Y					
Product Code:		Supplier Product Code:								
Agency Notes:		Supplier Notes:								
Home Express Corp	First Offer - \$261.75	714 / linear foot	\$186,889.50		Y					
Product Code:		Supplier Product Code:								
Agency Notes:		Supplier Notes:								

PNC2127807C101-57 Imported Item Lot: TEMPORARY BARRIER, RELOCATE, LOW PROFILE CONCRETE										
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs					
мсм 🙀	First Offer - \$0.01	307 / linear foot	\$3.07		Y					
Product Code:		Supplier Product Code:								
Agency Notes:		Supplier Notes:								
FG Construction LLC	First Offer - \$16.81	307 / linear foot	\$5,160.67		Y					
Product Code:		Supplier Product Code:								
Agency Notes:		Supplier Notes:								
Home Express Corp	First Offer - \$28.17	307 / linear foot	\$8,648.19		Y					
Product Code:		Supplier Product Code:								
Agency Notes:		Supplier Notes:								

PNC2127807C101-58 Imported Item Lot: TEMPORARY BARRIER, RELOCATE, ANCHORED										
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs					
FG Construction LLC 👔	First Offer - \$16.81	151 / linear foot	\$2,538.31		Y					
		Supplier Product Code: Supplier Notes:								
MCM 🙀	First Offer - \$22.00	151 / linear foot	\$3,322.00		Y					
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:								
Home Express Corp	First Offer - \$28.17	151 / linear foot	\$4,253.67		Y					

PNC2127807C101-59 Imported Item Lot: TEMPORARY BARRIER, RELOCATE, FREE STANDING										
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs					
Home Express Corp	First Offer - \$28.17	510 / linear foot	\$14,366.70		Y					
Product Code:		Supplier Product Code:								
Agency Notes:		Supplier Notes:								
FG Construction LLC	First Offer - \$34.83	510 / linear foot	\$17,763.30		Y					
Product Code:		Supplier Product Code:								
Agency Notes:		Supplier Notes:								
MCM 🙀	First Offer - \$80.00	510 / linear foot	\$40,800.00		Υ					
Product Code:		Supplier Product Code:								
		Supplier Notes:								

PNC2127807C101-60 Imported Item Lot: CHANNELIZING DEVICE - TYPES I, II, DI, VP, DRUM, OR LCD										
Supplier	Unit Price	Qty/Unit Total Price Attch. Do								
мсм 👔	First Offer - \$0.20	17834 / day	\$3,566.80		Y					
Product Code:		Supplier Product Code	:							
Agency Notes:		Supplier Notes:								
Home Express Corp 👔	First Offer - \$0.35	17834 / day	\$6,241.90		Y					
Product Code:		Supplier Product Code:								
Agency Notes:		Supplier Notes:								
FG Construction LLC	First Offer - \$0.36	17834 / day	\$6,420.24		Y					
Product Code:		Supplier Product Code:								
Agency Notes:		Supplier Notes:								

PNC2127807C101-61 Imported Item Lot: CHANNELIZING DEVICE, TYPE III, 6-FT										
Supplier	Unit Price	Qty/Unit Total Price Attch. Do								
мсм 🙀	First Offer - \$0.40	7254 / day	\$2,901.60		Υ					
Product Code:		Supplier Product Code	:							
Agency Notes:		Supplier Notes:								
FG Construction LLC	First Offer - \$0.55	7254 / day	\$3,989.70		Y					
Product Code:		Supplier Product Code:								
Agency Notes:		Supplier Notes:								
Home Express Corp	First Offer - \$1.56	7254 / day	\$11,316.24		Υ					
Product Code:		Supplier Product Code:								
		Supplier Notes:								

PNC2127807C101-62 Imported Item Lot: ARROW BOARD / ADVANCE WARNING ARROW PANEL										
Supplier	Unit Price	e Qty/Unit Total Price Attch. Doc								
Home Express Corp	First Offer - \$1.56	28 / day	\$43.68		Y					
Product Code:	Product Code: Supplier Product Code:									
Agency Notes:		Supplier Notes:								
мсм 📦	First Offer - \$11.00	28 / day	\$308.00		Υ					
Product Code:		Supplier Product Code:								
Agency Notes:		Supplier Notes:								
FG Construction LLC	First Offer - \$14.48	28 / day	\$405.44		Y					
Product Code:		Supplier Product Code:								
Agency Notes:		Supplier Notes:								

PNC2127807C101-63 Imported Item Lot: TEMPORARY RETROREFLECTIVE PAVEMENT MARKER										
Supplier	Unit Price	Qty/Unit	Qty/Unit Total Price Attch. D							
MCM 🙀	First Offer - \$5.00	1478 / each	\$7,390.00		Y					
Product Code:		Supplier Product Code	2:							
Agency Notes:		Supplier Notes:								
FG Construction LLC	First Offer - \$6.04	1478 / each	\$8,927.12		Y					
Product Code:		Supplier Product Code:								
Agency Notes:		Supplier Notes:								
Home Express Corp	First Offer - \$12.37	1478 / each	\$18,282.86		Y					
		Supplier Product Code Supplier Notes:	::							

PNC2127807C101-64 Imported Item Lot: TEMPORARY CRASH CUSHION, REDIRECTIVE OPTION									
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs				
мсм 📦	First Offer - \$1,110.00	2 / each	\$2,220.00		Y				
Product Code:		Supplier Product Cod	e:						
Agency Notes:		Supplier Notes:							
FG Construction LLC	First Offer - \$2,799.39	2 / each	\$5,598.78		Y				
Product Code:		Supplier Product Code:							
Agency Notes:		Supplier Notes:							
Home Express Corp	First Offer - \$2,997.45	2 / each	\$5,994.90		Y				
Product Code:		Supplier Product Cod	e:						
Agency Notes:		Supplier Notes:							

PNC2127807C101-65 Imported Item Lot: PORTABLE CHANGEABLE MESSAGE SIGN, TEMPORARY									
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs				
мсм 📦	First Offer - \$16.00	2410 / day	\$38,560.00		Y				
Product Code:		Supplier Product Code	2:						
Agency Notes:		Supplier Notes:							
FG Construction LLC	First Offer - \$24.13	2410 / day	\$58,153.30		Y				
Product Code:		Supplier Product Code:							
Agency Notes:		Supplier Notes:							
Home Express Corp 👔	First Offer - \$37.84	2410 / day	\$91,194.40		Y				
Product Code:		Supplier Product Code							
Agency Notes:		Supplier Notes:							

PNC2127807C101-66 Imported Item Lot: TEMPORARY RAISED RUMBLE STRIPS- PER DAY, INCLUDES ALL SETS AND RELOCATIONS									
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs				
Home Express Corp	First Offer - \$30.61	21 / day	\$642.81		Y				
Product Code: Supplier Product Code:									
Agency Notes:		Supplier Notes:							
MCM 🙀	First Offer - \$76.00	21 / day	\$1,596.00		Y				
Product Code:		Supplier Product Code:							
Agency Notes:		Supplier Notes:							
FG Construction LLC	First Offer - \$78.41	21 / day	\$1,646.61		Y				
Product Code:		Supplier Product Code	2:						
Agency Notes:		Supplier Notes:							

PNC2127807C101-67 Imported Item Lot:	SEDIMENT BARRIER		

	- , -			Page 17 01	34	
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs	
FG Construction LLC	First Offer - \$2.74	1355 / linear foot	\$3,712.70		Υ	
Product Code:		Supplier Product Code:				
Agency Notes:		Supplier Notes:				
MCM 🙀	First Offer - \$14.50	1355 / linear foot	\$19,647.50		Y	
Product Code:		Supplier Product Code:				
Agency Notes:		Supplier Notes:				
Home Express Corp 👔	First Offer - \$22.94	1355 / linear foot	\$31,083.70		Y	
Product Code:		Supplier Product Code:				
Agency Notes:		Supplier Notes:				

PNC2127807C101-68 Imported Item Lot: INLET PROTECTION SYSTEM									
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs				
FG Construction LLC	First Offer - \$78.71	47 / each	\$3,699.37		Y				
Product Code:		Supplier Product Code	2:						
Agency Notes:		Supplier Notes:							
MCM 🙀	First Offer - \$185.00	47 / each	\$8,695.00		Y				
Product Code:		Supplier Product Code	2:						
Agency Notes:		Supplier Notes:							
Home Express Corp	First Offer - \$661.43	47 / each	\$31,087.21		Y				
Product Code:		Supplier Product Code	2:						
Agency Notes:		Supplier Notes:							

PNC2127807C101-69 Imported Item Lot: TYPE B STABILIZATION										
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs					
Home Express Corp 👔	First Offer - \$9.30	11412 / square yard	\$106,131.60		Υ					
Product Code:		Supplier Product Code:								
Agency Notes:		Supplier Notes:								
FG Construction LLC	First Offer - \$9.53	11412 / square yard	\$108,756.36		Y					
Product Code:		Supplier Product Code:								
Agency Notes:		Supplier Notes:								
MCM 🙀	First Offer - \$30.00	11412 / square yard	\$342,360.00		Y					
Product Code:		Supplier Product Code:								
Agency Notes:		Supplier Notes:								

PNC2127807C101-70 Imported Item Lot: CLEARING AND GRUBBING										
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs					
Home Express Corp 👔	First Offer - \$30,991.84	1 / lump sum	\$30,991.84		Y					
Product Code:	Supplier Product Code:									
Agency Notes:		Supplier Notes:								
FG Construction LLC	First Offer - \$215,117.38	1 / lump sum	\$215,117.38		Y					
Product Code:		Supplier Product Code	e:							
Agency Notes:		Supplier Notes:								
мсм 🙀	First Offer - \$350,000.00	1 / lump sum	\$350,000.00		Y					
Product Code:		Supplier Product Code	e:							
Agency Notes:		Supplier Notes:								

PNC2127807C101-71 Imported Item Lot: REMOVAL OF EXIST. CONCRETE								
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs			
MCM 🙀	First Offer - \$21.00	1860 / square yard	\$39,060.00		Υ			

	000, 0			Page 18 of	54
Product Code:		Supplier Product Code:		-	
Agency Notes:		Supplier Notes:			
Home Express Corp	First Offer - \$32.73	1860 / square yard	\$60,877.80		Y
Product Code:		Supplier Product Code:			
Agency Notes:		Supplier Notes:			
FG Construction LLC	First Offer - \$32.87	1860 / square yard	\$61,138.20		Y
Product Code:		Supplier Product Code:			
Agency Notes:		Supplier Notes:			

PNC2127807C101-72 Imported Item Lot: EXCAVATION									
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs				
FG Construction LLC	First Offer - \$32.27	1325 / cubic yard	\$42,757.75		Y				
Product Code: Supplier Product Code:									
Agency Notes:		Supplier Notes:							
Home Express Corp	First Offer - \$70.17	1325 / cubic yard	\$92,975.25		Y				
Product Code:		Supplier Product Code:							
Agency Notes:		Supplier Notes:							
мсм 🙀	First Offer - \$85.00	1325 / cubic yard	\$112,625.00		Y				
Product Code:		Supplier Product Code:							
Agency Notes:		Supplier Notes:							

PNC2127807C101-73 Imported Item Lot: EMBANKMENT									
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs				
FG Construction LLC	First Offer - \$63.74	1582 / cubic yard	\$100,836.68		Y				
Product Code:		Supplier Product Code:							
Agency Notes:		Supplier Notes:							
мсм 🙀	First Offer - \$92.00	1582 / cubic yard	\$145,544.00		Y				
Product Code:		Supplier Product Code:							
Agency Notes:		Supplier Notes:							
Home Express Corp	First Offer - \$148.82	1582 / cubic yard	\$235,433.24		Y				
Product Code:		Supplier Product Code:							
Agency Notes:		Supplier Notes:							

PNC2127807C101-74 Imported Item Lot: LIMEROCK BASE - 8-INCH. THICK										
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs					
Home Express Corp	First Offer - \$9.30	5158 / square yard	\$47,969.40		Y					
Product Code: Supplier Product Code:										
Agency Notes:		Supplier Notes:								
FG Construction LLC	First Offer - \$39.18	5158 / square yard	\$202,090.44		Y					
Product Code:		Supplier Product Code:								
Agency Notes:		Supplier Notes:								
мсм 🙀	First Offer - \$45.00	5158 / square yard	\$232,110.00		Y					
Product Code:		Supplier Product Code:								
Agency Notes:		Supplier Notes:								

PNC2127807C101-75 Imported Item Lot: OPTIONAL BASE GROUP 12									
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs				
Home Express Corp 👔	First Offer - \$9.30	4702 / square yard	\$43,728.60		Y				
Product Code:		Supplier Product Code:							
Agency Notes:		Supplier Notes:							
	First Offer - \$52.32	4702 / square yard	\$246,008.64		Y				

PNC2127807C101-76 Imported Item Lot: MILLING EXIST. ASPHALT PAVT, 1-INCH AVG DEPTH										
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs					
мсм 🙀	First Offer - \$4.00	13340 / square yard	\$53,360.00		Y					
Product Code:		Supplier Product Code:								
Agency Notes:		Supplier Notes:								
Home Express Corp	First Offer - \$6.92	13340 / square yard	\$92,312.80		Y					
Product Code:		Supplier Product Code:								
Agency Notes:		Supplier Notes:								
FG Construction LLC	First Offer - \$13.55	13340 / square yard	\$180,757.00		Y					
Product Code:		Supplier Product Code:								
Agency Notes:		Supplier Notes:								

PNC2127807C101-77 Imported Item Lot: S	PNC2127807C101-77 Imported Item Lot: SUPERPAVE ASPHALTIC CONC, TRAFFIC C, PG76-22									
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs					
мсм 🙀	First Offer - \$260.00	2989 / ton	\$777,140.00		Y					
Product Code:	Product Code: Supplier Product Code:									
Agency Notes:		Supplier Notes:								
Home Express Corp	First Offer - \$444.22	2989 / ton	\$1,327,773.58		Y					
Product Code:		Supplier Product Code	e:							
Agency Notes:		Supplier Notes:								
FG Construction LLC	First Offer - \$515.22	2989 / ton	\$1,539,992.58		Y					
Product Code:		Supplier Product Code	e:							
Agency Notes:		Supplier Notes:								

PNC2127807C101-78 Imported Item Lot: CONCRETE JACKET										
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs					
Home Express Corp	First Offer - \$738.60	8 / each	\$5,908.80		Y					
Product Code:	·	Supplier Product Code	e:							
Agency Notes:		Supplier Notes:								
мсм 🙀	First Offer - \$1,400.00	8 / each	\$11,200.00		Y					
Product Code:		Supplier Product Code	e:							
Agency Notes:		Supplier Notes:								
FG Construction LLC	First Offer - \$5,572.27	8 / each	\$44,578.16		Y					
Product Code:	·	Supplier Product Code	e:							
Agency Notes:		Supplier Notes:								

PNC2127807C101-79 Imported Item Lot: CATCH BASIN (ROUND)									
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs				
FG Construction LLC 👔	First Offer - \$7,448.35	2 / each	\$14,896.70		Y				
Product Code:		Supplier Product Cod	e:						
Agency Notes:		Supplier Notes:							
Home Express Corp 👔	First Offer - \$8,017.21	2 / each	\$16,034.42		Y				
Product Code:		Supplier Product Cod	e:						

Agency Notes:		Supplier Notes:		
MCM 🙀	First Offer - \$12,000.00	2 / each	\$24,000.00	Υ
Product Code:		Supplier Product Cod	e:	
Agency Notes:		Supplier Notes:		

PNC2127807C101-80 Imported Item Lot: INLETS, CURB, TYPE P-4, <10									
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs				
мсм 📦	First Offer - \$13,000.00	1 / each	\$13,000.00		Y				
Product Code:	Supplier Product Code:								
Agency Notes:		Supplier Notes:							
Home Express Corp	First Offer - \$18,370.95	1 / each	\$18,370.95		Y				
Product Code:		Supplier Product Code:							
Agency Notes:		Supplier Notes:							
FG Construction LLC	First Offer - \$19,236.92	1 / each	\$19,236.92		Y				
Product Code:		Supplier Product Cod	e:						
Agency Notes:		Supplier Notes:							

PNC2127807C101-81 Imported Item Lot:	PNC2127807C101-81 Imported Item Lot: INLETS, CURB, TYPE P-5, <10										
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs						
MCM 🙀	First Offer - \$11,000.00	1 / each	\$11,000.00		Y						
Product Code:		Supplier Product Code:									
Agency Notes:		Supplier Notes:									
Home Express Corp	First Offer - \$12,364.84	1 / each	\$12,364.84		Y						
Product Code:		Supplier Product Cod	e:								
Agency Notes:		Supplier Notes:									
FG Construction LLC	First Offer - \$25,313.22	1 / each	\$25,313.22		Y						
Product Code:		Supplier Product Cod	e:								
Agency Notes:		Supplier Notes:									

PNC2127807C101-82 Imported Item Lot: INLETS, CURB, TYPE P-6, <10									
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs				
мсм 📦	First Offer - \$11,800.00	1 / each	\$11,800.00		Y				
Product Code:	roduct Code: Supplier Product Code:								
Agency Notes:		Supplier Notes:							
Home Express Corp 👔	First Offer - \$14,341.63	1 / each	\$14,341.63		Y				
Product Code:		Supplier Product Code:							
Agency Notes:		Supplier Notes:							
FG Construction LLC	First Offer - \$23,129.11	1 / each	\$23,129.11		Y				
Product Code:		Supplier Product Cod	e:						
Agency Notes:		Supplier Notes:							

PNC2127807C101-83 Imported Item Lot: INLETS, CURB, TYPE P-6, >10									
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs				
MCM 🙀	First Offer - \$16,500.00	1 / each	\$16,500.00		Y				
Product Code:		Supplier Product Cod	e:						
Agency Notes:		Supplier Notes:							
Home Express Corp 👔	First Offer - \$21,324.31	1 / each	\$21,324.31		Y				
Product Code:		Supplier Product Code:							
Agency Notes:		Supplier Notes:							
FG Construction LLC	First Offer - \$30,213.45	1 / each	\$30,213.45		Y				

PNC2127807C101-84 Imported Item Lot: INLETS, CURB, TYPE P-9, <10									
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs				
MCM 🙀	First Offer - \$12,100.00	4 / each	\$48,400.00		Υ				
Product Code:	oct Code: Supplier Product Code:								
Agency Notes:		Supplier Notes:							
FG Construction LLC	First Offer - \$23,241.12	4 / each	\$92,964.48		Y				
Product Code:		Supplier Product Code:							
Agency Notes:		Supplier Notes:							
Home Express Corp	First Offer - \$24,522.95	4 / each	\$98,091.80		Y				
Product Code: Agency Notes:		Supplier Product Cod Supplier Notes:	e:						

PNC2127807C101-85 Imported Item Lot: INLETS, CURB, TYPE 9, J BOT, <10										
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs					
мсм 🙀	First Offer - \$15,200.00	2 / each	\$30,400.00		Y					
Product Code:		Supplier Product Cod	e:							
Agency Notes:		Supplier Notes:								
FG Construction LLC	First Offer - \$19,628.94	2 / each	\$39,257.88		Y					
Product Code:		Supplier Product Code:								
Agency Notes:		Supplier Notes:								
Home Express Corp	First Offer - \$23,799.33	2 / each	\$47,598.66		Y					
Product Code:		Supplier Product Cod	e:							
Agency Notes:		Supplier Notes:								

PNC2127807C101-86 Imported Item Lot: INLETS, CURB, TYPE 9, J BOT, >10									
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs				
Home Express Corp	First Offer - \$27,369.23	1 / each	\$27,369.23		Y				
Product Code:		Supplier Product Cod	e:						
Agency Notes:		Supplier Notes:							
MCM 🙀	First Offer - \$36,000.00	1 / each	\$36,000.00		Y				
Product Code:		Supplier Product Cod	e:						
Agency Notes:		Supplier Notes:							
FG Construction LLC	First Offer - \$36,737.77	1 / each	\$36,737.77		Υ				
Product Code:		Supplier Product Cod	e:						
Agency Notes:		Supplier Notes:							

PNC2127807C101-87 Imported Item Lot: INLETS, CURB, TYPE 9, PARTIAL										
Supplier	Unit Price	Qty/Unit Total Price Attch. Do								
мсм 📦	First Offer - \$7,100.00	1 / each	\$7,100.00		Y					
Product Code:	Supplier Product Code:									
Agency Notes:		Supplier Notes:								
Home Express Corp	First Offer - \$8,970.42	1 / each	\$8,970.42		Y					
Product Code:		Supplier Product Code:								
Agency Notes:		Supplier Notes:								
FG Construction LLC	First Offer - \$10,584.50	1 / each	\$10,584.50		Y					
Product Code: Agency Notes:		Supplier Product Cod Supplier Notes:	e:							

PNC2127807C101-88 Imported Item Lot: INLETS, CURB, TYPE J-3, <10										
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs					
MCM 🙀	First Offer - \$16,500.00	2 / each	\$33,000.00		Y					
Product Code:		Supplier Product Code:								
Agency Notes:		Supplier Notes:								
Home Express Corp	First Offer - \$22,751.98	2 / each	\$45,503.96		Y					
Product Code:		Supplier Product Code:								
Agency Notes:		Supplier Notes:								
FG Construction LLC	First Offer - \$26,965.29	2 / each	\$53,930.58		Y					
Product Code: Agency Notes:		Supplier Product Code Supplier Notes:	e:							

PNC2127807C101-89 Imported Item Lot: INLETS, CURB, TYPE J-3, >10										
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs					
Home Express Corp	First Offer - \$26,164.77	1 / each	\$26,164.77		Y					
Product Code:		Supplier Product Code:								
Agency Notes:		Supplier Notes:								
FG Construction LLC	First Offer - \$42,310.03	1 / each	\$42,310.03		Y					
Product Code:		Supplier Product Code:								
Agency Notes:		Supplier Notes:								
мсм 🙀	First Offer - \$43,000.00	1 / each	\$43,000.00		Y					
Product Code:		Supplier Product Cod	e:							
Agency Notes:		Supplier Notes:								

PNC2127807C101-90 Imported Item Lot: INLETS, CURB, TYPE J-6, <10										
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs					
Home Express Corp 👔	First Offer - \$19,072.62	1 / each	\$19,072.62		Y					
Product Code:		Supplier Product Cod	e:							
Agency Notes:		Supplier Notes:								
мсм 📦	First Offer - \$22,600.00	1 / each	\$22,600.00		Y					
Product Code:		Supplier Product Cod	e:							
Agency Notes:		Supplier Notes:								
FG Construction LLC 👔	First Offer - \$32,201.54	1 / each	\$32,201.54		Y					
Product Code:		Supplier Product Cod	e:							
Agency Notes:		Supplier Notes:								

PNC2127807C101-91 Imported Item Lot: INLETS, DT BOT, TYPE C, <10										
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs					
MCM 🙀	First Offer - \$8,000.00	4 / each	\$32,000.00		Y					
Product Code:	Supplier Product Code:									
Agency Notes:		Supplier Notes:								
Home Express Corp	First Offer - \$11,985.45	4 / each	\$47,941.80		Y					
Product Code:		Supplier Product Cod	e:							
Agency Notes:		Supplier Notes:								
FG Construction LLC 👔	First Offer - \$12,796.62	4 / each	\$51,186.48		Y					
Product Code:		Supplier Product Cod	e:							
Agency Notes:		Supplier Notes:								

PNC2127807C101-92 Imported Item Lot: INLETS, DT BOT, TYPE C (PARTIAL)							

	Page 23 d			54	
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
MCM 🙀	First Offer - \$4,800.00	3 / each	\$14,400.00		Y
Product Code:		Supplier Product Cod	e:		
Agency Notes:		Supplier Notes:			
FG Construction LLC	First Offer - \$8,652.42	3 / each	\$25,957.26		Y
Product Code:		Supplier Product Cod	e:		
Agency Notes:		Supplier Notes:			
Home Express Corp	First Offer - \$10,423.36	3 / each	\$31,270.08		Υ
Product Code:		Supplier Product Cod	e:		
Agency Notes:		Supplier Notes:			

PNC2127807C101-93 Imported Item Lot: INLETS, GUTTER, TYPE V, <10-FT										
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs					
мсм 🙀	First Offer - \$9,100.00	1 / each	\$9,100.00		Y					
Product Code:	Supplier Product Code:									
Agency Notes:		Supplier Notes:								
Home Express Corp	First Offer - \$12,535.74	1 / each	\$12,535.74		Y					
Product Code:		Supplier Product Code:								
Agency Notes:		Supplier Notes:								
FG Construction LLC 🙀	First Offer - \$13,160.63	1 / each	\$13,160.63		Y					
Product Code:		Supplier Product Code	e:							
Agency Notes:		Supplier Notes:								

PNC2127807C101-94 Imported Item Lot: MAINTENANCE ACCESS STRUCTURE, P-7										
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs					
мсм 🙀	First Offer - \$11,100.00	1 / each	\$11,100.00		Y					
Product Code:		Supplier Product Cod	e:							
Agency Notes:		Supplier Notes:								
Home Express Corp 👔	First Offer - \$14,046.55	1 / each	\$14,046.55		Y					
Product Code:		Supplier Product Cod	e:							
Agency Notes:		Supplier Notes:								
FG Construction LLC	First Offer - \$16,408.79	1 / each	\$16,408.79		Y					
Product Code:		Supplier Product Cod	e:							
Agency Notes:		Supplier Notes:								

PNC2127807C101-95 Imported Item Lot: MAINTENANCE ACCESS STRUCTURE, 7 (PARTIAL)										
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs					
MCM 🙀	First Offer - \$4,700.00	1 / each	\$4,700.00		Y					
Product Code:		Supplier Product Cod	e:							
Agency Notes:		Supplier Notes:								
FG Construction LLC	First Offer - \$7,364.35	1 / each	\$7,364.35		Y					
Product Code:		Supplier Product Cod	e:							
Agency Notes:		Supplier Notes:								
Home Express Corp	First Offer - \$7,774.47	1 / each	\$7,774.47		Y					
Product Code:		Supplier Product Cod	e:							
Agency Notes:		Supplier Notes:								

PNC2127807C101-96 Imported Item Lot: PIPE CULVERT, ROUND CONCRETE 15-INCH.							
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs		
мсм 🙀	First Offer - \$300.00	4 / linear foot	\$1,200.00		Υ		

				Page 24 of 54
Product Code:		Supplier Product Code	e:	
Agency Notes:		Supplier Notes:		
Home Express Corp 👔	First Offer - \$331.91	4 / linear foot	\$1,327.64	Y
Product Code:		Supplier Product Code	e:	
Agency Notes:		Supplier Notes:		
FG Construction LLC 👔	First Offer - \$1,204.06	4 / linear foot	\$4,816.24	Υ
Product Code:		Supplier Product Code	e:	
Agency Notes:		Supplier Notes:		

PNC2127807C101-97 Imported Item Lot: PIPE CULVERT, ROUND CONCRETE 18-INCH.									
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs				
Home Express Corp	First Offer - \$199.68	261 / linear foot	\$52,116.48		Y				
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:							
мсм 🙀	First Offer - \$275.00	261 / linear foot	\$71,775.00		Y				
Product Code:		Supplier Product Code:							
Agency Notes:		Supplier Notes:							
FG Construction LLC	First Offer - \$482.74	261 / linear foot	\$125,995.14		Y				
Product Code:		Supplier Product Code:							
Agency Notes:		Supplier Notes:							

PNC2127807C101-98 Imported Item Lot: PIPE CULVERT, ROUND CONCRETE 24-INCH.									
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs				
мсм 🙀	First Offer - \$0.01	302 / linear foot	\$3.02		Y				
Product Code:		Supplier Product Code:							
Agency Notes:		Supplier Notes:							
Home Express Corp	First Offer - \$235.10	302 / linear foot	\$71,000.20		Y				
Product Code:		Supplier Product Code:							
Agency Notes:		Supplier Notes:							
FG Construction LLC	First Offer - \$402.10	302 / linear foot	\$121,434.20		Y				
Product Code:		Supplier Product Code:							
Agency Notes:		Supplier Notes:							

PNC2127807C101-99 Imported Item Lot: P	PNC2127807C101-99 Imported Item Lot: PIPE CULVERT, ROUND CONCRETE 30-INCH.								
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs				
Home Express Corp	First Offer - \$345.68	33 / linear foot	\$11,407.44		Y				
Product Code:		Supplier Product Code:							
Agency Notes:		Supplier Notes:							
MCM 🙀	First Offer - \$600.00	33 / linear foot	\$19,800.00		Y				
Product Code:		Supplier Product Code:							
Agency Notes:		Supplier Notes:							
FG Construction LLC	First Offer - \$862.44	33 / linear foot	\$28,460.52		Y				
Product Code:		Supplier Product Code:							
Agency Notes:		Supplier Notes:							

PNC2127807C1–01-100 Imported Item Lot: PIPE CULVERT, ELLIPSE CONCRETE, 18-INCH.								
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs			
Home Express Corp	First Offer - \$297.92	74 / linear foot	\$22,046.08		Y			
Product Code:		Supplier Product Code:						
Agency Notes:		Supplier Notes:						
	First Offer - \$510.00	74 / linear foot	\$37,740.00		Y			

	County Com	IIIIOOIOIIOIO		Page 25 of	154
мсм 🙀					
Product Code:		Supplier Product Code:			
Agency Notes:		Supplier Notes:			
FG Construction LLC	First Offer - \$527.55	74 / linear foot	\$39,038.70		Y
Product Code:		Supplier Product Code:			
Agency Notes:		Supplier Notes:			

PNC2127807C101-101 Imported Item Lot: PIPE CULVERT, ELLIPSE CONCRETE, 24-INCH.								
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs			
Home Express Corp	First Offer - \$291.02	96 / linear foot	\$27,937.92		Y			
Product Code:		Supplier Product Code:						
Agency Notes:		Supplier Notes:						
MCM 🙀	First Offer - \$517.00	96 / linear foot	\$49,632.00		Y			
Product Code:		Supplier Product Code:						
Agency Notes:		Supplier Notes:						
FG Construction LLC	First Offer - \$865.80	96 / linear foot	\$83,116.80		Y			
Product Code:		Supplier Product Code:						
Agency Notes:		Supplier Notes:						

PNC2127807C101-102 Imported Item Lot: MITERED END SECTION, ROUND 18-INCH. SD								
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs			
MCM 🙀	First Offer - \$4,300.00	1 / each	\$4,300.00		Υ			
Product Code:		Supplier Product Code	e:					
Agency Notes:		Supplier Notes:						
Home Express Corp	First Offer - \$4,717.01	1 / each	\$4,717.01		Υ			
Product Code:		Supplier Product Code	e:					
Agency Notes:		Supplier Notes:						
FG Construction LLC	First Offer - \$6,356.30	1 / each	\$6,356.30		Y			
Product Code: Agency Notes:		Supplier Product Code Supplier Notes:	e:					

PNC2127807C101-103 Imported Item Lot:	BOLLARDS				
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
мсм 📦	First Offer - \$1,400.00	12 / each	\$16,800.00		Y
Product Code:		Supplier Product Code	e:		
Agency Notes:		Supplier Notes:			
FG Construction LLC	First Offer - \$1,820.09	12 / each	\$21,841.08		Υ
Product Code:		Supplier Product Code	e:		
Agency Notes:		Supplier Notes:			
Home Express Corp 👔	First Offer - \$3,944.42	12 / each	\$47,333.04		Y
Product Code:		Supplier Product Code	e:		
Agency Notes:		Supplier Notes:			

PNC2127807C101-104 Imported Item Lot: CONCRETE CURB & GUTTER, TYPE F								
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs			
FG Construction LLC 👔	First Offer - \$42.78	3218 / linear foot	\$137,666.04		Υ			
Product Code:		Supplier Product Code:						
Agency Notes:		Supplier Notes:						
Home Express Corp 👔	First Offer - \$55.93	3218 / linear foot	\$179,982.74		Υ			
Product Code:		Supplier Product Code:						

				 • .
Agency Notes:		Supplier Notes:		
мсм 📦	First Offer - \$80.00	3218 / linear foot	\$257,440.00	Υ
Product Code:		Supplier Product Code:		
Agency Notes:		Supplier Notes:		

PNC2127807C101-105 Imported Item Lot: CONCRETE CURB, TYPE D										
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs					
FG Construction LLC	First Offer - \$40.67	108 / linear foot	\$4,392.36		Y					
Product Code:		Supplier Product Code:								
Agency Notes:		Supplier Notes:								
мсм 🙀	First Offer - \$51.00	108 / linear foot	\$5,508.00		Y					
Product Code:		Supplier Product Code:								
Agency Notes:		Supplier Notes:								
Home Express Corp	First Offer - \$66.81	108 / linear foot	\$7,215.48		Y					
Product Code:		Supplier Product Code:								
Agency Notes:		Supplier Notes:								

PNC2127807C101-106 Imported Item Lot: TRAFFIC SEPARATOR CONC, SPECIAL- VARIABLE WIDTH									
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs				
FG Construction LLC	First Offer - \$105.67	274 / linear foot	\$28,953.58		Y				
Product Code:		Supplier Product Code:							
Agency Notes:		Supplier Notes:							
Home Express Corp	First Offer - \$166.13	274 / linear foot	\$45,519.62		Y				
Product Code:		Supplier Product Code:							
Agency Notes:		Supplier Notes:							
мсм 🙀	First Offer - \$210.00	274 / linear foot	\$57,540.00		Y				
Product Code:		Supplier Product Code:							
Agency Notes:		Supplier Notes:							

PNC2127807C101-107 Imported Item Lot: CONCRETE TRAFFIC RAIL BRIDGE, 36-INCH SINGLE SLOPE									
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs				
MCM 🙀	First Offer - \$235.00	153 / linear foot	\$35,955.00		Y				
Product Code:		Supplier Product Code:							
Agency Notes:		Supplier Notes:							
FG Construction LLC 🙀	First Offer - \$350.18	153 / linear foot	\$53,577.54		Y				
Product Code:		Supplier Product Code:							
Agency Notes:		Supplier Notes:							
Home Express Corp	First Offer - \$415.72	153 / linear foot	\$63,605.16		Y				
Product Code:		Supplier Product Code:							
Agency Notes:		Supplier Notes:							

PNC2127807C101-108 Imported Item Lot: SHOULDER CONCRETE BARRIER, CURB AND GUTTER BARRIER									
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs				
MCM 🙀	First Offer - \$390.00	219 / linear foot	\$85,410.00		Y				
		Supplier Product Code:							
Agency Notes:		Supplier Notes:							
FG Construction LLC	First Offer - \$405.77	219 / linear foot	\$88,863.63		Y				
Product Code:		Supplier Product Code:							
Agency Notes:		Supplier Notes:							
Home Express Corp	First Offer - \$1,215.49	219 / linear foot	\$266,192.31		Y				

PNC2127807C101-109 Imported Item Lot: CONCRETE SIDEWALK AND DRIVEWAYS, 4-INCH									
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs				
FG Construction LLC 🙀	First Offer - \$88.93	49 / square yard	\$4,357.57		Υ				
Product Code:		Supplier Product Code:							
Agency Notes:		Supplier Notes:							
мсм 🙀	First Offer - \$145.00	49 / square yard	\$7,105.00		Y				
Product Code:		Supplier Product Code:							
Agency Notes:		Supplier Notes:							
Home Express Corp 🙀	First Offer - \$227.42	49 / square yard	\$11,143.58		Υ				
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:							

PNC2127807C101-110 Imported Item Lot: FENCING, TYPE B, 0.0-5.0-FEET, STANDARD FEATURES										
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs					
FG Construction LLC	First Offer - \$44.80	588 / linear foot	\$26,342.40		Υ					
Product Code:		Supplier Product Code:								
Agency Notes:		Supplier Notes:								
мсм 🙀	First Offer - \$55.00	588 / linear foot	\$32,340.00		Y					
Product Code:		Supplier Product Code:								
Agency Notes:		Supplier Notes:								
Home Express Corp	First Offer - \$63.89	588 / linear foot	\$37,567.32		Y					
Product Code:		Supplier Product Code:								
Agency Notes:		Supplier Notes:								

PNC2127807C101-111 Imported Item Lot: PERFORMANCE TURF									
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs				
Home Express Corp 👔	First Offer - \$2.08	4200 / square yard	\$8,736.00		Υ				
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:							
FG Construction LLC	First Offer - \$7.62	4200 / square yard	\$32,004.00		Υ				
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:							
мсм 🙀	First Offer - \$8.00	4200 / square yard	\$33,600.00		Y				
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:							

PNC2127807C101-112 Imported Item Lot: PERFORMANCE TURF, SOD AND SOIL - SHOULDER TREATMENT										
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs					
Home Express Corp	First Offer - \$4.10	73 / square yard	\$299.30		Y					
Product Code:		Supplier Product Code:								
Agency Notes:		Supplier Notes:								
мсм 🙀	First Offer - \$7.00	73 / square yard	\$511.00		Y					
Product Code:		Supplier Product Code:								
Agency Notes:		Supplier Notes:								
FG Construction LLC	First Offer - \$7.62	73 / square yard	\$556.26		Y					
Product Code:		Supplier Product Code:								
Agency Notes:		Supplier Notes:								

PNC2127807C101-113 Imported Item Lot: PALM REMOVAL									
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs				
FG Construction LLC	First Offer - \$504.02	11 / each	\$5,544.22		Υ				
Product Code:		Supplier Product Code	e:						
Agency Notes:		Supplier Notes:							
Home Express Corp	First Offer - \$1,678.31	11 / each	\$18,461.41		Y				
Product Code:		Supplier Product Code	e:						
Agency Notes:		Supplier Notes:							
MCM 🙀	First Offer - \$2,300.00	11 / each	\$25,300.00		Υ				
Product Code:		Supplier Product Code	e:						
Agency Notes:		Supplier Notes:							

PNC2127807C101-114 Imported Item Lot: TREE REMOVAL									
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs				
FG Construction LLC	First Offer - \$1,064.05	3 / each	\$3,192.15		Y				
Product Code:		Supplier Product Code	e:						
Agency Notes:		Supplier Notes:							
Home Express Corp	First Offer - \$1,413.71	3 / each	\$4,241.13		Y				
Product Code:		Supplier Product Code	e:						
Agency Notes:		Supplier Notes:							
мсм 🙀	First Offer - \$2,100.00	3 / each	\$6,300.00		Y				
Product Code:		Supplier Product Code	e:						
Agency Notes:		Supplier Notes:							

PNC2127807C101-115 Imported Item Lot: TREE PROTECTION FENCING										
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs					
FG Construction LLC	First Offer - \$3.94	1500 / linear foot	\$5,910.00		Y					
Product Code:		Supplier Product Code:								
Agency Notes:		Supplier Notes:								
Home Express Corp	First Offer - \$10.76	1500 / linear foot	\$16,140.00		Y					
Product Code:		Supplier Product Code:								
Agency Notes:		Supplier Notes:								
MCM 🙀	First Offer - \$15.00	1500 / linear foot	\$22,500.00		Y					
Product Code:		Supplier Product Code:								
Agency Notes:		Supplier Notes:								

PNC2127807C101-116 Imported Item Lot: CONOCARPUS ERECTUS										
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs					
MCM 🙀	First Offer - \$620.00	13 / each	\$8,060.00		Y					
Product Code: Agency Notes:		Supplier Product Code Supplier Notes:								
FG Construction LLC 🙀	First Offer - \$778.44	13 / each	\$10,119.72		Y					
Product Code: Agency Notes:		Supplier Product Code Supplier Notes:	e:							
Home Express Corp	First Offer - \$878.28	13 / each	\$11,417.64		Y					
Product Code: Agency Notes:		Supplier Product Code Supplier Notes:	e:							

PNC2127807C1–01-117 Imported Item Lot: CONOCARPUS ERECTUS 'SERICEUS'							

				raye 29 0	J -1
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
Home Express Corp	First Offer - \$384.25	16 / each	\$6,148.00		Y
Product Code:		Supplier Product Code	9:		
Agency Notes:		Supplier Notes:			
FG Construction LLC	First Offer - \$616.03	16 / each	\$9,856.48		Y
Product Code:		Supplier Product Code	2:		
Agency Notes:		Supplier Notes:			
мсм 🙀	First Offer - \$720.00	16 / each	\$11,520.00		Y
Product Code:		Supplier Product Code	:		
Agency Notes:		Supplier Notes:			

PNC2127807C101-118 Imported Item Lot: LAGERSTROEMIA SPECIOSA									
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs				
Home Express Corp	First Offer - \$548.93	16 / each	\$8,782.88		Y				
Product Code:		Supplier Product Code:							
Agency Notes:		Supplier Notes:							
FG Construction LLC	First Offer - \$616.03	16 / each	\$9,856.48		Y				
Product Code:		Supplier Product Code:							
Agency Notes:		Supplier Notes:							
MCM 🙀	First Offer - \$670.00	16 / each	\$10,720.00		Y				
Product Code:		Supplier Product Code	2:						
Agency Notes:		Supplier Notes:							

PNC2127807C101-119 Imported Item Lot: LYSILOMA LATISILIQUA									
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs				
Home Express Corp	First Offer - \$548.93	5 / each	\$2,744.65		Y				
Product Code:		Supplier Product Code:							
Agency Notes:		Supplier Notes:							
FG Construction LLC	First Offer - \$666.43	5 / each	\$3,332.15		Y				
Product Code:		Supplier Product Code:							
Agency Notes:		Supplier Notes:							
мсм 📦	First Offer - \$670.00	5 / each	\$3,350.00		Y				
Product Code:		Supplier Product Code	: :						
Agency Notes:		Supplier Notes:							

PNC2127807C101-120 Imported Item Lot: PTYCHOSPERMA ELEGANS									
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs				
Home Express Corp	First Offer - \$603.82	11 / each	\$6,642.02		Y				
Product Code:		Supplier Product Code	e:						
Agency Notes:		Supplier Notes:							
FG Construction LLC	First Offer - \$616.03	11 / each	\$6,776.33		Y				
Product Code:		Supplier Product Code:							
Agency Notes:		Supplier Notes:							
мсм 🙀	First Offer - \$770.00	11 / each	\$8,470.00		Y				
Product Code:		Supplier Product Code	e:						
Agency Notes:		Supplier Notes:							

PNC2127807C101-121 Imported Item Lot: ROYSTONEA REGIA								
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs			
Home Express Corp	First Offer - \$1,317.42	8 / each	\$10,539.36		Y			

	, ,			rage 30 01 34
Product Code:		Supplier Product Code	e:	
Agency Notes:		Supplier Notes:		
FG Construction LLC	First Offer - \$1,512.07	8 / each	\$12,096.56	Y
Product Code:		Supplier Product Code	e:	
Agency Notes:		Supplier Notes:		
мсм 🙀	First Offer - \$2,100.00	8 / each	\$16,800.00	Y
Product Code:		Supplier Product Code	e:	
Agency Notes:		Supplier Notes:		

PNC2127807C101-122 Imported Item Lot: VEITCHIA MONTGOMERYANA									
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs				
FG Construction LLC	First Offer - \$778.44	23 / each	\$17,904.12		Υ				
Product Code:		Supplier Product Code:							
Agency Notes:		Supplier Notes:							
мсм 📦	First Offer - \$1,100.00	23 / each	\$25,300.00		Y				
Product Code:		Supplier Product Code:							
Agency Notes:		Supplier Notes:							
Home Express Corp	First Offer - \$3,732.70	23 / each	\$85,852.10		Υ				
Product Code:		Supplier Product Code	e:						
Agency Notes:		Supplier Notes:							

PNC2127807C101-123 Imported Item Lot: PALM RELOCATION									
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs				
FG Construction LLC	First Offer - \$840.04	19 / each	\$15,960.76		Y				
Product Code:		Supplier Product Code	e:						
Agency Notes:		Supplier Notes:							
мсм 📦	First Offer - \$1,000.00	19 / each	\$19,000.00		Υ				
Product Code:		Supplier Product Code:							
Agency Notes:		Supplier Notes:							
Home Express Corp	First Offer - \$1,158.23	19 / each	\$22,006.37		Y				
Product Code:		Supplier Product Code	e:						
Agency Notes:		Supplier Notes:							

PNC2127807C1-01-124 Imported Item Lot: ACALYPHA AMENTACEA									
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs				
Home Express Corp	First Offer - \$16.47	27 / each	\$444.69		Y				
Product Code:		Supplier Product Code	:						
Agency Notes:		Supplier Notes:							
мсм 🙀	First Offer - \$31.00	27 / each	\$837.00		Y				
Product Code:		Supplier Product Code:							
Agency Notes:		Supplier Notes:							
FG Construction LLC	First Offer - \$47.05	27 / each	\$1,270.35		Y				
Product Code:		Supplier Product Code	:						
Agency Notes:		Supplier Notes:							

PNC2127807C101-125 Imported Item Lot: CHRYSOBALANUS ICACO								
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs			
мсм 🙀	First Offer - \$11.00	215 / each	\$2,365.00		Y			
Product Code:		Supplier Product Code:						
Agency Notes:		Supplier Notes:						
	First Offer - \$18.66	215 / each	\$4,011.90		Y			

PNC2127807C101-126 Imported Item Lot: CODIAEUM V. 'FRANKLIN ROOSEVELT'									
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs				
MCM 🙀	First Offer - \$11.00	140 / each	\$1,540.00		Υ				
Product Code:		Supplier Product Code:							
Agency Notes:		Supplier Notes:							
Home Express Corp	First Offer - \$14.27	140 / each	\$1,997.80		Υ				
Product Code:		Supplier Product Code:							
Agency Notes:		Supplier Notes:							
FG Construction LLC	First Offer - \$20.16	140 / each	\$2,822.40		Υ				
Product Code:		Supplier Product Code	:						
Agency Notes:		Supplier Notes:							

PNC2127807C101-127 Imported Item Lot: GALPHIMIA GRACILIS										
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs					
мсм 🙀	First Offer - \$11.00	95 / each	\$1,045.00		Υ					
Product Code:		Supplier Product Code	: :							
Agency Notes:		Supplier Notes:								
Home Express Corp	First Offer - \$13.17	95 / each	\$1,251.15		Y					
Product Code:		Supplier Product Code	: :							
Agency Notes:		Supplier Notes:								
FG Construction LLC	First Offer - \$20.16	95 / each	\$1,915.20		Y					
Product Code:		Supplier Product Code	2:							
Agency Notes:		Supplier Notes:								

PNC2127807C101-128 Imported Item Lot: JASMINUM VOLUBILE										
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs					
Home Express Corp 👔	First Offer - \$10.98	945 / each	\$10,376.10		Υ					
Product Code:		Supplier Product Code	2:							
Agency Notes:		Supplier Notes:								
мсм 🙀	First Offer - \$11.00	945 / each	\$10,395.00		Y					
Product Code:		Supplier Product Code	2:							
Agency Notes:		Supplier Notes:								
FG Construction LLC 👔	First Offer - \$20.16	945 / each	\$19,051.20		Υ					
Product Code:		Supplier Product Code	2:							
Agency Notes:		Supplier Notes:								

PNC2127807C101-129 Imported Item Lot: MUHLENBERGIA CAPILLARIS									
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs				
Home Express Corp	First Offer - \$10.43	200 / each	\$2,086.00		Υ				
Product Code:		Supplier Product Code	: :						
Agency Notes:		Supplier Notes:							
мсм 🙀	First Offer - \$11.00	200 / each	\$2,200.00		Υ				
Product Code:		Supplier Product Code	<u>:</u>						

· ·				 • .
Agency Notes:		Supplier Notes:		
FG Construction LLC	First Offer - \$19.04	200 / each	\$3,808.00	Υ
Product Code:		Supplier Product Code	e:	
Agency Notes:		Supplier Notes:		

PNC2127807C101-130 Imported Item Lot: I	PENNISETUM SETACEUM				
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
Home Express Corp	First Offer - \$8.78	267 / each	\$2,344.26		Y
Product Code:		Supplier Product Code	:		
Agency Notes:		Supplier Notes:			
мсм 📦	First Offer - \$11.00	267 / each	\$2,937.00		Y
Product Code:		Supplier Product Code:			
Agency Notes:		Supplier Notes:			
FG Construction LLC	First Offer - \$19.04	267 / each	\$5,083.68		Y
Product Code:		Supplier Product Code	:		
Agency Notes:		Supplier Notes:			

PNC2127807C101-131 Imported Item Lot: PHILODENDRON SELLOUM										
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs					
Home Express Corp 🙀	First Offer - \$16.47	355 / each	\$5,846.85		Υ					
Product Code:		Supplier Product Code:								
Agency Notes:		Supplier Notes:								
FG Construction LLC 👔	First Offer - \$20.16	355 / each	\$7,156.80		Υ					
Product Code:		Supplier Product Code	2:							
Agency Notes:		Supplier Notes:								
мсм 🙀	First Offer - \$42.00	355 / each	\$14,910.00		Υ					
Product Code:		Supplier Product Code	2:							
Agency Notes:		Supplier Notes:								

PNC2127807C101-132 Imported Item Lot: PLUMBAGO AURICULATA										
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs					
Home Express Corp 👔	First Offer - \$9.88	225 / each	\$2,223.00		Y					
Product Code:		Supplier Product Code	2:							
Agency Notes:		Supplier Notes:								
мсм 🙀	First Offer - \$11.00	225 / each	\$2,475.00		Y					
Product Code:		Supplier Product Code	:							
Agency Notes:		Supplier Notes:								
FG Construction LLC	First Offer - \$19.04	225 / each	\$4,284.00		Y					
Product Code:		Supplier Product Code	: :							
Agency Notes:		Supplier Notes:								

PNC2127807C101-133 Imported Item Lot: PSYCHOTRIA NERVOSA									
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs				
Home Express Corp	First Offer - \$12.08	270 / each	\$3,261.60		Y				
Product Code: Agency Notes:		Supplier Product Code Supplier Notes:							
MCM 🙀	First Offer - \$13.00	270 / each	\$3,510.00		Y				
Product Code:		Supplier Product Code	:						
Agency Notes:		Supplier Notes:							
FG Construction LLC	First Offer - \$19.04	270 / each	\$5,140.80		Y				

PNC2127807C101-134 Imported Item Lot: TRIPSACUM DACTYLOIDES									
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs				
Home Express Corp 👔	First Offer - \$10.98	240 / each	\$2,635.20		Υ				
Product Code:		Supplier Product Code	:						
Agency Notes:		Supplier Notes:							
мсм 🙀	First Offer - \$11.00	240 / each	\$2,640.00		Υ				
Product Code:		Supplier Product Code	:						
Agency Notes:		Supplier Notes:							
FG Construction LLC	First Offer - \$19.04	240 / each	\$4,569.60		Υ				
Product Code:		Supplier Product Code	:						
Agency Notes:		Supplier Notes:							

PNC2127807C101-135 Imported Item Lot: ZAMIA PUMILA										
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs					
Home Express Corp 👔	First Offer - \$24.15	93 / each	\$2,245.95		Y					
Product Code:		Supplier Product Code	:							
Agency Notes:		Supplier Notes:								
мсм 🙀	First Offer - \$26.00	93 / each	\$2,418.00		Υ					
Product Code:		Supplier Product Code	:							
Agency Notes:		Supplier Notes:								
FG Construction LLC	First Offer - \$49.29	93 / each	\$4,583.97		Y					
Product Code:		Supplier Product Code	<u>:</u>							
Agency Notes:		Supplier Notes:								

PNC2127807C101-136 Imported Item Lot: BUBBLERS, SWING JOINTS, & FITTINGS									
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs				
FG Construction LLC	First Offer - \$45.20	123 / each	\$5,559.60		Υ				
Product Code:		Supplier Product Code	:						
Agency Notes:		Supplier Notes:							
MCM 🙀	First Offer - \$48.00	123 / each	\$5,904.00		Y				
Product Code:		Supplier Product Code	:						
Agency Notes:		Supplier Notes:							
Home Express Corp	First Offer - \$80.21	123 / each	\$9,865.83		Υ				
Product Code:		Supplier Product Code	:						
Agency Notes:		Supplier Notes:							

PNC2127807C101-137 Imported Item Lot: IRRIGATION HEADS, NOZZLES, SWING JOINTS & FITTINGS									
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs				
MCM 🙀	First Offer - \$18.00	330 / each	\$5,940.00		Y				
Product Code:		Supplier Product Code	2:						
Agency Notes:		Supplier Notes:							
FG Construction LLC	First Offer - \$33.94	330 / each	\$11,200.20		Y				
Product Code:		Supplier Product Code	: :						
Agency Notes:		Supplier Notes:							
Home Express Corp	First Offer - \$128.34	330 / each	\$42,352.20		Y				
Product Code:		Supplier Product Code	2:						
Agency Notes:		Supplier Notes:							

PNC2127807C1-01-138 Imported Item Lot: VALVE ASSEMBLY								
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs			
Home Express Corp	First Offer - \$543.45	6 / each	\$3,260.70		Y			
Product Code:		Supplier Product Code	e:					
Agency Notes:		Supplier Notes:						
FG Construction LLC	First Offer - \$1,120.06	6 / each	\$6,720.36		Y			
Product Code:		Supplier Product Code	e:					
Agency Notes:		Supplier Notes:						
MCM 🙀	First Offer - \$2,000.00	6 / each	\$12,000.00		Υ			
Product Code:		Supplier Product Code	e:					
Agency Notes:		Supplier Notes:						

PNC2127807C101-139 Imported Item Lot: SLEEVES								
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs			
Home Express Corp	First Offer - \$12.43	345 / linear foot	\$4,288.35		Y			
Product Code:		Supplier Product Code:						
Agency Notes:		Supplier Notes:						
FG Construction LLC	First Offer - \$12.98	345 / linear foot	\$4,478.10		Y			
Product Code:		Supplier Product Code:						
Agency Notes:		Supplier Notes:						
мсм 🙀	First Offer - \$17.00	345 / linear foot	\$5,865.00		Y			
Product Code:		Supplier Product Code:						
Agency Notes:		Supplier Notes:						

PNC2127807C101-140 Imported Item Lot: LATERAL PIPE								
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs			
Home Express Corp 👔	First Offer - \$4.57	4400 / linear foot	\$20,108.00		Y			
Product Code:		Supplier Product Code:						
Agency Notes:		Supplier Notes:						
FG Construction LLC 👔	First Offer - \$5.09	4400 / linear foot	\$22,396.00		Y			
Product Code:		Supplier Product Code:						
Agency Notes:		Supplier Notes:						
мсм 📦	First Offer - \$7.00	4400 / linear foot	\$30,800.00		Y			
Product Code:		Supplier Product Code:						
Agency Notes:		Supplier Notes:						

PNC2127807C1-01-141 Imported Item Lot: PRESTRESSED CONC PILE, 24-INCH. SQ. (INDEX 455-024), END BENT #1 INDEX 455-024								
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs			
FG Construction LLC	First Offer - \$560.03	150 / linear foot	\$84,004.50		Y			
Product Code:		Supplier Product Code:						
Agency Notes:		Supplier Notes:						
MCM 🙀	First Offer - \$650.00	150 / linear foot	\$97,500.00		Y			
Product Code:		Supplier Product Code:						
Agency Notes:		Supplier Notes:						
Home Express Corp	First Offer - \$866.01	150 / linear foot	\$129,901.50		Y			
Product Code:		Supplier Product Code:						
Agency Notes:		Supplier Notes:						

PNC2127807C101-142 Imported	tem Lot: PRESTRESSE	EDCONC PILE, 24-INCH. S	Q. (INDEX 455-024), END BE	NT #2 INDEX 455-025

	•			i age 55 ti	J-T
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
MCM 🙀	First Offer - \$498.00	240 / linear foot	\$119,520.00		Y
Product Code:		Supplier Product Code:			
Agency Notes:		Supplier Notes:			
FG Construction LLC	First Offer - \$560.03	240 / linear foot	\$134,407.20		Y
Product Code:		Supplier Product Code:			
Agency Notes:		Supplier Notes:			
Home Express Corp	First Offer - \$866.01	240 / linear foot	\$207,842.40		Y

Product Code: Supplier Product Code: Agency Notes: Supplier Notes:

PNC2127807C1--01-143 Imported Item Lot: TEST PRESTRESSED CONC PIL, 24-INCH. SQ.

Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
мсм 👔	First Offer - \$568.00	60 / linear foot	\$34,080.00		Y
Product Code:		Supplier Product Code:			
Agency Notes:		Supplier Notes:			
Home Express Corp 👔	First Offer - \$766.97	60 / linear foot	\$46,018.20		Y
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
FG Construction LLC 👔	First Offer - \$896.04	60 / linear foot	\$53,762.40		Y
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			

PNC2127807C1--01-144 Imported Item Lot: CONCRETE CLASS II, BRIDGE SUBSTRUCTURE, END BENT #1

Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
MCM 🙀	First Offer - \$2,930.00	12 / cubic yard	\$35,160.00		Υ
Product Code:		Supplier Product Code:			
Agency Notes:		Supplier Notes:			
FG Construction LLC 👔	First Offer - \$3,080.15	12 / cubic yard	\$36,961.80		Y
Product Code:		Supplier Product Code:			
Agency Notes:		Supplier Notes:			
Home Express Corp 👔	First Offer - \$3,190.95	12 / cubic yard	\$38,291.40		Υ
Product Code:		Supplier Product Code:			

Supplier Notes:

Supplier Notes:

PNC2127807C1--01-145 Imported Item Lot: CONCRETE CLASS II, BRIDGE SUBSTRUCTURE, END BENT #2

Agency Notes:

Agency Notes:

Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
FG Construction LLC 👔	First Offer - \$3,080.15	8.5 / cubic yard	\$26,181.275		Y
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
Home Express Corp 👔	First Offer - \$3,390.38	8.5 / cubic yard	\$28,818.23		Y
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
MCM 👔	First Offer - \$4,130.00	8.5 / cubic yard	\$35,105.00		Y
Product Code:		Supplier Product Code:			

PNC2127807C1-01-146 Imported Item Lot: Reinf. Steel - Substructure (end Bents #1 & #2)

Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
MCM 🙀	First Offer - \$1.60	3702 / pound	\$5,923.20		Υ

	Broward Coun County Comr			Exhibit Page 36 of 5	
Product Code: Agency Notes:		upplier Product Code: upplier Notes:		r ago oo or c	
FG Construction LLC		3702 / pound	\$8,292.48		Υ
Product Code: Agency Notes:	S	upplier Product Code: upplier Notes:	,		
Home Express Corp		3702 / pound	\$27,987.12		Υ
Product Code:		upplier Product Code:			
Agency Notes:		upplier Notes:			
PNC2127807C101-147	Imported Item Lot: CONCRETE CLASS II, BRIDG	GE SUPERSTRUCTURE, 20-INC	CH. THICK BRIDGE [DECK	
Supplier		Qty/Unit	Total Price	Attch.	Docs
MCM 👔	First Offer - \$1,650.00	79 / cubic yard	\$130,350.00		Y
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
Home Express Corp 👔	First Offer - \$1,954.01	79 / cubic yard	\$154,366.79		Y
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
FG Construction LLC	First Offer - \$2,856.13	79 / cubic yard	\$225,634.27		Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
PNC2127807C101-148	Imported Item Lot: CONCRETE CLASS II, APPR	OACH SLAB, 12-INCH. THICK	APPROACH SLAB,	INDEX 400-0	90
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
Home Express Corp 🔓	First Offer - \$1,148.71	17 / cubic yard	\$19,528.07		Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
FG Construction LLC	First Offer - \$1,792.09	17 / cubic yard	\$30,465.53		Y
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
МСМ 🙀	First Offer - \$2,490.00	17 / cubic yard	\$42,330.00		Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
PNC2127807C101-149	Imported Item Lot: CONCRETE CLASS II, BRIDG	GE DECK, 3-FT-4-INCH. WIDE S	SIDEWALK OVER BE	RIDGE DECK	
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
Home Express Corp 🔓	First Offer - \$923.85	7 / cubic yard	\$6,466.95		Y
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
FG Construction LLC	First Offer - \$1,120.06	7 / cubic yard	\$7,840.42		Y
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
MCM 🔓	First Offer - \$2,750.00	7 / cubic yard	\$19,250.00		Υ
Product Code:		Supplier Product Code:			
Agency Notes:		Supplier Notes:			
PNC2127807C101-150	Imported Item Lot: CONCRETE CLASS II, APPR	OACH SLAB, 3-FT-4-INCH. WI	DE SIDEWALK OVE	R APPROAC	H SLAB
Supplier	•	Qty/Unit	Total Price	Attch.	Docs
Home Express Corp	First Offer - \$923.85	15 / cubic yard	\$13,857.75		Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
	First Offer - \$1,120.06	• •	\$16,800.90		Y

FG Construction LLC

Product Code: Supplier Product Code:

Agency Notes: Supplier Notes:

MCM 🔓 First Offer - \$2,710.00 15 / cubic yard \$40,650.00 **Y**

Product Code: Supplier Product Code:

Agency Notes: Supplier Notes:

DNIC3437007C4 04 4E4	I I I I I I I I I I I I I I I I I I I	II. APPROACH SLAB, 3-FT-4-INCH, WIDE SIDEWALK OVER APPROACH SLAI
1140212700701-01-131	illipolited itelli Eot. Collecte i Ectass	II, AI I NOACII JEAD, J'I I'TIIVCII. WIDE JIDEWALK OVEK AI I KOACII JEAI

Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
Home Express Corp 👔	First Offer - \$923.85	14 / cubic yard	\$12,933.90		Y
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
FG Construction LLC	First Offer - \$1,120.06	14 / cubic yard	\$15,680.84		Y
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
мсм 🙀	First Offer - \$3,000.00	14 / cubic yard	\$42,000.00		Y
Product Code:		Supplier Product Code:			

Agency Notes: Supplier Notes:

PNC2127807C1-01-152 Imported Item Lot: CONCRETE CLASS II, BRIDGE SUPERSTRUCTURE, (C.I.P. 12-INCH. TRAFFIC BARRIER WALL)

Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
мсм 👔	First Offer - \$2,400.00	17 / cubic yard	\$40,800.00		Υ
Product Code:		Supplier Product Code:			
Agency Notes:		Supplier Notes:			
FG Construction LLC 🙀	First Offer - \$3,024.14	17 / cubic yard	\$51,410.38		Y
Product Code:		Supplier Product Code:			
Agency Notes:		Supplier Notes:			
Home Express Corp 👔	First Offer - \$5,030.34	17 / cubic yard	\$85,515.78		Υ
Product Code:		Supplier Product Code:			
Agency Notes:		Supplier Notes:			

PNC2127807C1--01-153 Imported Item Lot: CONC. TRAF. RAIL BRG, 36-INCH. SINGLE SLOPE, INDEX 521-427, RT. OFFSET

Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
мсм 📦	First Offer - \$0.01	120 / linear foot	\$1.20		Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
FG Construction LLC 👔	First Offer - \$358.41	120 / linear foot	\$43,009.20		Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
Home Express Corp 👔	First Offer - \$1,004.36	120 / linear foot	\$120,523.20		Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			

PNC2127807C1--01-154 Imported Item Lot: CONC. TRAF. RAIL BRG, 36-INCH. SINGLE SLOPE, INDEX 521-427, LT. OFFSET

		• • • •	
Supplier	Unit Price Qty/Unit	Total Price Attch.	Docs
MCM 🙀	First Offer - \$0.01 180 / linear foot	\$1.80	Y
Product Code:	Supplier Product Code	e:	
Agency Notes:	Supplier Notes:		
FG Construction LLC	First Offer - \$358.41 180 / linear foot	\$64,513.80	Y
Product Code:	Supplier Product Code	e:	

Supplier Notes:

Exhibit 1 Page 38 of 54

Agency Notes:

Product Code:

Agency Notes:

Supplier Notes:

Home Express Corp 🔓

180 / linear foot First Offer - \$1,004.36

\$180,784.80

Supplier Product Code:

Υ

PNC2127807C101-155	Imported Item Lot: REINF.STEEL	- SUPERSTRUCUTRE
--------------------	--------------------------------	------------------

Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
мсм 👔	First Offer - \$1.60	34577 / pound	\$55,323.20		Υ
Product Code:		Supplier Product Code:			
Agency Notes:		Supplier Notes:			
FG Construction LLC 👔	First Offer - \$2.24	34577 / pound	\$77,452.48		Y
Product Code:		Supplier Product Code:			
Agency Notes:		Supplier Notes:			
Home Express Corp 👔	First Offer - \$7.54	34577 / pound	\$260,710.58		Y
Product Code:		Supplier Product Code:			
Agency Notes:		Supplier Notes:			

PNC2127807C1--01-156 Imported Item Lot: SHLDR, CONC. BARRIER, 38-INCH. HT., FDOT 521-001, BL EXTENSION

Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
мсм 🙀	First Offer - \$0.01	201.6 / linear foot	\$2.016		Y
Product Code:		Supplier Product Code:			
Agency Notes:		Supplier Notes:			
FG Construction LLC	First Offer - \$448.02	201.6 / linear foot	\$90,320.832		Y
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
Home Express Corp 👔	First Offer - \$884.32	201.6 / linear foot	\$178,278.912		Y
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			

PNC2127807C1--01-157 Imported Item Lot: SHLDR CONC. BARRIER, 38-INCH. HT., FDOT 521-001, BL UPPER

Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
мсм 📦	First Offer - \$0.01	168 / linear foot	\$1.68		Y
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
FG Construction LLC	First Offer - \$448.02	168 / linear foot	\$75,267.36		Y
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
Home Express Corp 👔	First Offer - \$886.07	168 / linear foot	\$148,859.76		Y
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			

PNC2127807C1--01-158 Imported Item Lot: SHLDR CONC. BARRIER, 38-INCH. HT., FDOT 521'001, BL BUS, LT. OFFSET

Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
MCM 🙀	First Offer - \$0.01	95.2 / linear foot	\$0.952		Y
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
FG Construction LLC	First Offer - \$448.02	95.2 / linear foot	\$42,651.504		Y
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
Home Express Corp 👔	First Offer - \$887.94	95.2 / linear foot	\$84,531.888		Y

Product Code: Supplier Product Code: Agency Notes: Supplier Notes:

PNC2127807C101-159	Imported Item Lot: SHLDR CONC. BARRIER, 3	88-INCH. HT., FDOT 521'001, E	BL BUS, LT. OFFSET		
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
МСМ 👔	First Offer - \$0.01	171.4 / linear foot	\$1.714		Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
FG Construction LLC	First Offer - \$448.02	171.4 / linear foot	\$76,790.628		Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
Home Express Corp 👔	First Offer - \$888.15	171.4 / linear foot	\$152,228.91		Y
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
PNC2127807C101-160	Imported Item Lot: CONC. CLASS I, RETAININ	IG WALL, FDOT 400-010, RT. (OFFSET, BL UPPER, V	VALL TYPE	1
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
FG Construction LLC	First Offer - \$3,360.17	15.6 / cubic yard	\$52,418.652		Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
мсм 👔	First Offer - \$3,500.00	15.6 / cubic yard	\$54,600.00		Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
Home Express Corp 👔	First Offer - \$4,372.68	15.6 / cubic yard	\$68,213.808		Y
Product Code:		Supplier Product Code: Supplier Notes:			
Agency Notes:		Supplier reces.			
	Imported Item Lot: CONC. CLASS I, RETAININ		DFFSET, BL UPPER, W	/ALL TYPE 1	1
			DFFSET, BL UPPER, W Total Price	/ALL TYPE 1 Attch.	1 Docs
PNC2127807C101-161		IG WALL, FDOT 400-010, LT. (Qty/Unit			
PNC2127807C101-161 Supplier	Unit Price	IG WALL, FDOT 400-010, LT. (Qty/Unit	Total Price		Docs
PNC2127807C101-161 Supplier FG Construction LLC Product Code:	Unit Price	IG WALL, FDOT 400-010, LT. C Qty/Unit 15.6 / cubic yard Supplier Product Code:	Total Price		Docs
PNC2127807C101-161 Supplier FG Construction LLC Product Code: Agency Notes:	Unit Price First Offer - \$3,360.17	IG WALL, FDOT 400-010, LT. C Qty/Unit 15.6 / cubic yard Supplier Product Code: Supplier Notes:	Total Price \$52,418.652		Docs Y
PNC2127807C101-161 Supplier FG Construction LLC Product Code: Agency Notes: MCM Product Code:	Unit Price First Offer - \$3,360.17	IG WALL, FDOT 400-010, LT. O Qty/Unit 15.6 / cubic yard Supplier Product Code: Supplier Notes: 15.6 / cubic yard Supplier Product Code: Supplier Notes:	Total Price \$52,418.652		Docs Y
PNC2127807C101-161 Supplier FG Construction LLC Product Code: Agency Notes: MCM Product Code: Agency Notes:	Unit Price First Offer - \$3,360.17 First Offer - \$3,500.00	IG WALL, FDOT 400-010, LT. O Qty/Unit 15.6 / cubic yard Supplier Product Code: Supplier Notes: 15.6 / cubic yard Supplier Product Code: Supplier Notes:	Total Price \$52,418.652 \$54,600.00		Docs Y Y
PNC2127807C101-161 Supplier FG Construction LLC Product Code: Agency Notes: MCM Product Code: Agency Notes: Home Express Corp Product Code: Agency Notes:	First Offer - \$3,360.17 First Offer - \$3,500.00 First Offer - \$4,372.68	IG WALL, FDOT 400-010, LT. O Qty/Unit 15.6 / cubic yard Supplier Product Code: Supplier Notes: 15.6 / cubic yard Supplier Product Code: Supplier Notes: 15.6 / cubic yard Supplier Product Code: Supplier Notes:	Total Price \$52,418.652 \$54,600.00 \$68,213.808	Attch.	Pocs Y Y
PNC2127807C101-161 Supplier FG Construction LLC Product Code: Agency Notes: MCM Product Code: Agency Notes: Home Express Corp Product Code: Agency Notes: Product Code: Agency Notes:	First Offer - \$3,360.17 First Offer - \$3,500.00 First Offer - \$4,372.68 Imported Item Lot: CONC. CLASS I, RETAININ Unit Price	IG WALL, FDOT 400-010, LT. O Qty/Unit 15.6 / cubic yard Supplier Product Code: Supplier Notes: 15.6 / cubic yard Supplier Product Code: Supplier Notes: 15.6 / cubic yard Supplier Product Code: Supplier Notes:	Total Price \$52,418.652 \$54,600.00 \$68,213.808 DFFSET, BL UPPER, W Total Price	Attch.	Pocs Y Y
PNC2127807C101-161 Supplier FG Construction LLC Product Code: Agency Notes: MCM Product Code: Agency Notes: Home Express Corp Product Code: Agency Notes:	First Offer - \$3,360.17 First Offer - \$3,500.00 First Offer - \$4,372.68	IG WALL, FDOT 400-010, LT. O Qty/Unit 15.6 / cubic yard Supplier Product Code: Supplier Notes: 15.6 / cubic yard Supplier Product Code: Supplier Notes: 15.6 / cubic yard Supplier Product Code: Supplier Notes:	Total Price \$52,418.652 \$54,600.00 \$68,213.808	Attch.	Pocs Y Y
PNC2127807C101-161 Supplier FG Construction LLC Product Code: Agency Notes: MCM Product Code: Agency Notes: Home Express Corp Product Code: Agency Notes: PNC2127807C101-162 Supplier FG Construction LLC Product Code: Agency Notes:	First Offer - \$3,360.17 First Offer - \$3,500.00 First Offer - \$4,372.68 Imported Item Lot: CONC. CLASS I, RETAININ Unit Price	IG WALL, FDOT 400-010, LT. O Qty/Unit 15.6 / cubic yard Supplier Product Code: Supplier Notes: 15.6 / cubic yard Supplier Product Code: Supplier Notes: 15.6 / cubic yard Supplier Product Code: Supplier Notes:	Total Price \$52,418.652 \$54,600.00 \$68,213.808 DFFSET, BL UPPER, W Total Price	Attch.	Pocs Y Y Y Docs
PNC2127807C101-161 Supplier FG Construction LLC Product Code: Agency Notes: MCM Product Code: Agency Notes: Home Express Corp Product Code: Agency Notes: PNC2127807C101-162 Supplier FG Construction LLC Product Code:	First Offer - \$3,360.17 First Offer - \$3,500.00 First Offer - \$4,372.68 Imported Item Lot: CONC. CLASS I, RETAININ Unit Price	IG WALL, FDOT 400-010, LT. O Qty/Unit 15.6 / cubic yard Supplier Product Code: Supplier Notes: 15.6 / cubic yard Supplier Product Code: Supplier Product Code: Supplier Product Code: Supplier Notes: IG WALL, FDOT 400-010, LT. O e Qty/Unit 9.5 / cubic yard Supplier Product Code: Supplier Product Code: Supplier Product Code: Supplier Notes:	Total Price \$52,418.652 \$54,600.00 \$68,213.808 DFFSET, BL UPPER, W Total Price	Attch.	Pocs Y Y Y Docs
PNC2127807C101-161 Supplier FG Construction LLC Product Code: Agency Notes: MCM Product Code: Agency Notes: Home Express Corp Product Code: Agency Notes: PNC2127807C101-162 Supplier FG Construction LLC Product Code: Agency Notes:	Unit Price First Offer - \$3,360.17 First Offer - \$3,500.00 First Offer - \$4,372.68 Imported Item Lot: CONC. CLASS I, RETAININ Unit Price First Offer - \$3,360.17	IG WALL, FDOT 400-010, LT. O Qty/Unit 15.6 / cubic yard Supplier Product Code: Supplier Notes: 15.6 / cubic yard Supplier Product Code: Supplier Product Code: Supplier Product Code: Supplier Notes: IG WALL, FDOT 400-010, LT. O e Qty/Unit 9.5 / cubic yard Supplier Product Code: Supplier Product Code: Supplier Notes:	Total Price \$52,418.652 \$54,600.00 \$68,213.808 DFFSET, BL UPPER, W Total Price \$31,921.615	Attch.	Pocs Y Y Y Docs Y
PNC2127807C101-161 Supplier FG Construction LLC Product Code: Agency Notes: MCM Product Code: Agency Notes: Home Express Corp Product Code: Agency Notes: PNC2127807C101-162 Supplier FG Construction LLC Product Code: Agency Notes: Home Express Corp	Unit Price First Offer - \$3,360.17 First Offer - \$3,500.00 First Offer - \$4,372.68 Imported Item Lot: CONC. CLASS I, RETAININ Unit Price First Offer - \$3,360.17	IG WALL, FDOT 400-010, LT. O Qty/Unit 15.6 / cubic yard Supplier Product Code: Supplier Product Code: Supplier Product Code: Supplier Notes: 15.6 / cubic yard Supplier Product Code: Supplier Product Code: Supplier Product Code: Supplier Notes: IG WALL, FDOT 400-010, LT. O Qty/Unit 9.5 / cubic yard Supplier Product Code: Supplier Notes: 9.5 / cubic yard Supplier Product Code: Supplier Notes: 9.5 / cubic yard Supplier Product Code: Supplier Notes:	Total Price \$52,418.652 \$54,600.00 \$68,213.808 DFFSET, BL UPPER, W Total Price \$31,921.615	Attch.	Pocs Y Y Y Docs Y

PNC2127807C101-163	Imported Item Lot: CONC. CLASS I, RETAININ		OFFSET, BL UPPER, V	VALL TYPE 3	
Supplier		e Qty/Unit	Total Price	Attch. D	Docs
FG Construction LLC	First Offer - \$3,360.17	•	\$24,529.241		Y
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
MCM 🙀	First Offer - \$3,500.00	• •	\$25,550.00		Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
Home Express Corp 👔	First Offer - \$4,677.01	7.3 / cubic yard	\$34,142.173		Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
PNC2127807C101-164	Imported Item Lot: REINF. STEEL, RETAINING	WALL, FDOT 400-010, RT. OF	FSET, WALL TYPE 1		
Supplier	Unit Price		Total Price	Attch. D	ocs
MCM 🙀	First Offer - \$1.60	2670 / pound	\$4,272.00		Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
FG Construction LLC	First Offer - \$2.24	2670 / pound	\$5,980.80		Y
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
Home Express Corp 👔	First Offer - \$7.54	2670 / pound	\$20,131.80		Y
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
PNC2127807C101-165	Imported Item Lot: REINF, STEEL, RETAINING	WALL, FDOT 400-010, LT, OF	FSET. WALL TYPE 1		
PNC2127807C101-165 Supplier	Imported Item Lot: REINF. STEEL, RETAINING Unit Price		FSET, WALL TYPE 1 Total Price	Attch. D	ocs
	-				Oocs Y
Supplier	Unit Price First Offer - \$1.60	Qty/Unit	Total Price		
Supplier MCM 🉀 Product Code:	Unit Price First Offer - \$1.60	Qty/Unit 2670 / pound Supplier Product Code:	Total Price		
Supplier MCM Product Code: Agency Notes:	Unit Price First Offer - \$1.60 First Offer - \$2.24	Qty/Unit 2670 / pound Supplier Product Code: Supplier Notes:	Total Price \$4,272.00		Y
Supplier MCM Product Code: Agency Notes: FG Construction LLC Product Code:	Unit Price First Offer - \$1.60 First Offer - \$2.24	Qty/Unit 2670 / pound Supplier Product Code: Supplier Notes: 2670 / pound Supplier Product Code:	Total Price \$4,272.00		Y
Supplier MCM Product Code: Agency Notes: FG Construction LLC Product Code: Agency Notes:	Unit Price First Offer - \$1.60 First Offer - \$2.24 First Offer - \$7.54	Qty/Unit 2670 / pound Supplier Product Code: Supplier Notes: 2670 / pound Supplier Product Code: Supplier Notes:	Total Price \$4,272.00 \$5,980.80		Y
Supplier MCM Product Code: Agency Notes: FG Construction LLC Product Code: Agency Notes: Home Express Corp Product Code: Agency Notes:	Unit Price First Offer - \$1.60 First Offer - \$2.24 First Offer - \$7.54	Qty/Unit 2670 / pound Supplier Product Code: Supplier Notes: 2670 / pound Supplier Product Code: Supplier Notes: 2670 / pound Supplier Product Code: Supplier Notes:	\$4,272.00 \$5,980.80 \$20,131.80		Y
Supplier MCM Product Code: Agency Notes: FG Construction LLC Product Code: Agency Notes: Home Express Corp Product Code: Agency Notes:	Unit Price First Offer - \$1.60 First Offer - \$2.24 First Offer - \$7.54	Qty/Unit 2670 / pound Supplier Product Code: Supplier Notes: 2670 / pound Supplier Product Code: Supplier Notes: 2670 / pound Supplier Product Code: Supplier Product Code: Supplier Product Code: Supplier Notes:	\$4,272.00 \$5,980.80 \$20,131.80		Y
Supplier MCM Product Code: Agency Notes: FG Construction LLC Product Code: Agency Notes: Home Express Corp Product Code: Agency Notes: Product Code: Agency Notes:	Unit Price First Offer - \$1.60 First Offer - \$2.24 First Offer - \$7.54 Imported Item Lot: REINF. STEEL, RETAINING Unit Price	Qty/Unit 2670 / pound Supplier Product Code: Supplier Notes: 2670 / pound Supplier Product Code: Supplier Notes: 2670 / pound Supplier Product Code: Supplier Product Code: Supplier Product Code: Supplier Notes:	**Total Price \$4,272.00 \$5,980.80 \$20,131.80	Attch. D	Y Y
Supplier MCM Product Code: Agency Notes: FG Construction LLC Product Code: Agency Notes: Home Express Corp Product Code: Agency Notes: PNC2127807C1-01-166 Supplier	Unit Price First Offer - \$1.60 First Offer - \$2.24 First Offer - \$7.54 Imported Item Lot: REINF. STEEL, RETAINING Unit Price First Offer - \$1.60	Qty/Unit 2670 / pound Supplier Product Code: Supplier Notes: 2670 / pound Supplier Product Code: Supplier Notes: 2670 / pound Supplier Product Code: Supplier Product Code: Supplier Product Code: Supplier Notes:	**Total Price \$4,272.00 **5,980.80 **20,131.80 **FSET, WALL TYPE 2 Total Price **	Attch. D	Y Y Y
Supplier MCM () Product Code: Agency Notes: FG Construction LLC () Product Code: Agency Notes: Home Express Corp () Product Code: Agency Notes: PNC2127807C1-01-166 Supplier MCM () Product Code:	Unit Price First Offer - \$1.60 First Offer - \$2.24 First Offer - \$7.54 Imported Item Lot: REINF. STEEL, RETAINING Unit Price First Offer - \$1.60	Qty/Unit 2670 / pound Supplier Product Code: Supplier Notes: 2670 / pound Supplier Product Code: Supplier Notes: 2670 / pound Supplier Product Code: Supplier Product Code: Supplier Product Code: Supplier Notes: WALL, FDOT 400-010, LT. OF Qty/Unit 3120 / pound Supplier Product Code:	**Total Price \$4,272.00 **5,980.80 **20,131.80 **FSET, WALL TYPE 2 Total Price **	Attch. D	Y Y Y
Supplier MCM () Product Code: Agency Notes: FG Construction LLC () Product Code: Agency Notes: Home Express Corp () Product Code: Agency Notes: PNC2127807C1-01-166 Supplier MCM () Product Code: Agency Notes:	Unit Price First Offer - \$1.60 First Offer - \$2.24 First Offer - \$7.54 Imported Item Lot: REINF. STEEL, RETAINING Unit Price First Offer - \$1.60 First Offer - \$2.24	Qty/Unit 2670 / pound Supplier Product Code: Supplier Notes: 2670 / pound Supplier Product Code: Supplier Notes: 2670 / pound Supplier Product Code: Supplier Product Code: Supplier Product Code: Supplier Notes: WALL, FDOT 400-010, LT. OF Qty/Unit 3120 / pound Supplier Product Code: Supplier Notes:	**Total Price \$4,272.00 **5,980.80 **20,131.80 **FSET, WALL TYPE 2 **Total Price \$4,992.00	Attch. D	Y Y Y
Supplier MCM Product Code: Agency Notes: FG Construction LLC Product Code: Agency Notes: Home Express Corp Product Code: Agency Notes: PNC2127807C1-01-166 Supplier MCM Product Code: Agency Notes: FG Construction LLC Product Code:	Unit Price First Offer - \$1.60 First Offer - \$2.24 First Offer - \$7.54 Imported Item Lot: REINF. STEEL, RETAINING Unit Price First Offer - \$1.60 First Offer - \$2.24	Qty/Unit 2670 / pound Supplier Product Code: Supplier Notes: 2670 / pound Supplier Product Code: Supplier Notes: 2670 / pound Supplier Product Code: Supplier Product Code: Supplier Notes: WALL, FDOT 400-010, LT. OF Qty/Unit 3120 / pound Supplier Product Code:	**Total Price \$4,272.00 **5,980.80 **20,131.80 **FSET, WALL TYPE 2 **Total Price \$4,992.00	Attch. D	Y Y Y
Supplier MCM Product Code: Agency Notes: FG Construction LLC Product Code: Agency Notes: Home Express Corp Product Code: Agency Notes: PNC2127807C1-01-166 Supplier MCM Product Code: Agency Notes: FG Construction LLC Product Code: Agency Notes:	First Offer - \$1.60 First Offer - \$2.24 First Offer - \$7.54 Imported Item Lot: REINF. STEEL, RETAINING Unit Price First Offer - \$1.60 First Offer - \$2.24 First Offer - \$7.54	Qty/Unit 2670 / pound Supplier Product Code: Supplier Notes: 2670 / pound Supplier Product Code: Supplier Notes: 2670 / pound Supplier Product Code: Supplier Product Code: Supplier Product Code: Supplier Notes: WALL, FDOT 400-010, LT. OF Qty/Unit 3120 / pound Supplier Product Code: Supplier Notes: 3120 / pound Supplier Product Code: Supplier Notes:	**Total Price \$4,272.00 **5,980.80 **20,131.80 **FSET, WALL TYPE 2 **Total Price \$4,992.00 **6,988.80	Attch. D	Y Y Y Pocs Y

	Broward Cour County Com			Exhib Page 41 o	
Supplier	Unit Price		Total Price	Attch.	Docs
мсм ᇦ		1352 / pound	\$2,163.20		Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
FG Construction LLC	First Offer - \$2.24	1352 / pound	\$3,028.48		Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
Home Express Corp 🔓	First Offer - \$7.54	1352 / pound	\$10,194.08		Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
PNC2127807C101-168	Imported Item Lot: DRILLED SHAFT, 66-INCH.	DIA., OHC STRUCTURES, FDC	OT 700-040		
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
FG Construction LLC 👔	First Offer - \$3,114.08	48 / linear foot	\$149,475.84		Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
Home Express Corp 👔	First Offer - \$4,350.89	48 / linear foot	\$208,842.72		Y
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
MCM 👔	First Offer - \$8,800.00	48 / linear foot	\$422,400.00		Y
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
PNC2127807C101-169	Imported Item Lot: DRILLED SHAFT, 66-INCH.	DIA., OHS STRUCTURES, FDC	OT 700-041		
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
мсм 👔	First Offer - \$0.01	48 / linear foot	\$0.48		Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
FG Construction LLC 🔓	First Offer - \$3,114.08	48 / linear foot	\$149,475.84		Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
Home Express Corp 👔	First Offer - \$4,350.89	48 / linear foot	\$208,842.72		Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
PNC2127807C101-170	Imported Item Lot: DRILLED SHAFT, 30-INCH.	DIA., (FOR LIGHTING FOUND	DATION F-1, 9 STRU	JCTS.)	
Supplier		Qty/Unit	Total Price	Attch.	Docs
мсм 📦	First Offer - \$710.00	72 / linear foot	\$51,120.00		Y
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
FG Construction LLC	First Offer - \$718.53	72 / linear foot	\$51,734.16		Y
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
Home Express Corp 👔	First Offer - \$1,129.24	72 / linear foot	\$81,305.28		Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
DNC2127807C1_01_171	Imported Item Lot: DRILLED SHAFT, 30-INCH.	DIA (FOR LIGHTING FOUND	NATION E-2 7 CTDI	ICTS)	
Supplier	•	Qty/Unit	Total Price	Attch.	Docs
MCM 🙀	First Offer - \$920.00	-	\$38,640.00	Accell.	Y

	Broward Cour County Com	,		Exhib Page 42 of	
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:		1 ago 12 o	
FG Construction LLC 👔	First Offer - \$924.85	42 / linear foot	\$38,843.70		Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
Home Express Corp 🔓	First Offer - \$1,129.24	42 / linear foot	\$47,428.08		Y
Product Code:		Supplier Product Code:			
Agency Notes:		Supplier Notes:			
PNC2127807C101-172	Imported Item Lot: BRIDGE DECK EXPANSION	N JOINT, NEW, POUR			
Supplier		Qty/Unit	Total Price	Attch.	Docs
MCM 🙀	First Offer - \$45.00	53 / linear foot	\$2,385.00		Y
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
FG Construction LLC	First Offer - \$168.01	53 / linear foot	\$8,904.53		Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
Home Express Corp 🔓	First Offer - \$264.83	53 / linear foot	\$14,035.99		Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
PNC2127807C101-173	Imported Item Lot: 3/4-INCH. BARRIER WALL	EXPANSION JOINT			
Supplier	Unit Pric	ce Qty/Unit	Total Price	Attch.	Docs
МСМ 🔓	First Offer - \$4,000.0	0 1 / lump sum	\$4,000.00		Y
Product Code:		Supplier Product Code:			
Agency Notes:		Supplier Notes:			
FG Construction LLC	First Offer - \$11,200.5	3 1 / lump sum	\$11,200.53		Y
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
Home Express Corp 👔	First Offer - \$12,406.7	6 1 / lump sum	\$12,406.76		Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
PNC2127807C101-174	Imported Item Lot: EXPANDED POLYSTYRENI	E (FOR COPING OVER RETAINII	NG WALL, INDEX	400-900)	
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
МСМ 🙀	First Offer - \$30.00	150 / linear foot	\$4,500.00		Y
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
Home Express Corp 👔	First Offer - \$45.12	150 / linear foot	\$6,768.00		Y
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
FG Construction LLC	First Offer - \$224.02	150 / linear foot	\$33,603.00		Y
Product Code:		Supplier Product Code:			
Agency Notes:		Supplier Notes:			
	Imported Item Lot: BUILT-UP DECK (METAL C				
Supplier	Unit Price		Total Price	Attch.	Docs
мсм 👔	First Offer - \$130.00	756 / square foot	\$98,280.00		Y
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
	First Offer - \$611.12	756 / square foot	\$462,006.72		Y

Supplier Product Code:

Home Express Corp 🔓

Agency Notes:

Product Code:

Agency Notes: Supplier Notes:

Υ FG Construction LLC First Offer - \$1,316.06 756 / square foot \$994,941.36

Product Code: Supplier Product Code: Agency Notes: Supplier Notes:

Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
мсм 👔	First Offer - \$0.01	3750 / square foot	\$37.50		Y
Product Code:		Supplier Product Code:			
Agency Notes:		Supplier Notes:			
FG Construction LLC	First Offer - \$112.01	3750 / square foot	\$420,037.50		Y
Product Code:		Supplier Product Code:			
Agency Notes:		Supplier Notes:			
Home Express Corp 🙀	First Offer - \$138.99	3750 / square foot	\$521,212.50		Y
Product Code:		Supplier Product Code:			

Supplier Notes:

PNC2127807C1--01-177 Imported Item Lot: GUARDRAIL - ROADWAY, GEN.

Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
Home Express Corp 👔	First Offer - \$28.79	40 / each	\$1,151.60		Y
Product Code:		Supplier Product Code:			
Agency Notes:		Supplier Notes:			
мсм 🙀	First Offer - \$160.00	40 / each	\$6,400.00		Y
Product Code:		Supplier Product Code:			
Agency Notes:		Supplier Notes:			
FG Construction LLC 👔	First Offer - \$168.01	40 / each	\$6,720.40		Υ
Product Code:		Supplier Product Code:			
Agency Notes:		Supplier Notes:			

PNC2127807C1--01-178 Imported Item Lot: SPECIAL GUARDRAIL POST - STEEL

Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
Home Express Corp 👔	First Offer - \$372.57	8 / each	\$2,980.56		Y
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
MCM 🙀	First Offer - \$500.00	8 / each	\$4,000.00		Y
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
FG Construction LLC 👔	First Offer - \$560.03	8 / each	\$4,480.24		Y

Product Code: Supplier Product Code: Agency Notes: Supplier Notes:

PNC2127807C1--01-179 Imported Item Lot: F & I, 45-FT AFG CONCRETE LIGHTING POLE WITH TWO HEAD LED LIGHT FIXTURE

Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
FG Construction LLC	First Offer - \$27,530.91	8 / each	\$220,247.28		Y
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
мсм 🙀	First Offer - \$28,000.00	8 / each	\$224,000.00		Y

Product Code: Supplier Product Code:

Exhibit 1 Page 44 of 54

Υ

\$432,079.36

Agency Notes:

Product Code:

Supplier Notes:

Home Express Corp 🔓

First Offer - \$54,009.92 8 / each

Supplier Product Code:

Supplier Notes: Agency Notes:

Supplier		Unit Price	Qty/Unit	Total Price Attch.	Docs
MCM 👔	First Offer -	\$24,000.00	4 / each	\$96,000.00	Y
Product Code:			Supplier Product Code:		
Agency Notes:			Supplier Notes:		
FG Construction LLC	First Offer -	\$24,047.19	4 / each	\$96,188.76	Y
Product Code:			Supplier Product Code:		
Agency Notes:			Supplier Notes:		
Home Express Corp	First Offer -	\$37,585.75	4 / each	\$150,343.00	Y
Product Code:			Supplier Product Code:		

Product Code: Supplier Product Code: **Agency Notes: Supplier Notes:**

PNC2127807C1--01-181 Imported Item Lot: F & I, CONDUIT AND WIRING FOR ABOVE LIGHTING POLES

Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
Home Express Corp 👔	First Offer - \$64.84	4500 / linear foot	\$291,780.00		Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
MCM 👔	First Offer - \$98.00	4500 / linear foot	\$441,000.00		Y
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
FG Construction LLC	First Offer - \$98.98	4500 / linear foot	\$445,410.00		Y
Due deset Corder		Committee Burndonsk Control			

Product Code: Supplier Product Code: Supplier Notes: Agency Notes:

PNC2127807C1--01-182 Imported Item Lot: F & I, CIRCUIT BREAKERS IN EXISTING PANEL AND LIGHING CONTROLS FOR ABOVE LIGHTIN

Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
МСМ 🙀	First Offer - \$97,000.00	1 / each	\$97,000.00		Y
Product Code:		Supplier Product Code:			
Agency Notes:		Supplier Notes:			
FG Construction LLC 👔	First Offer - \$98,154.50	1 / each	\$98,154.50		Y
Product Code:		Supplier Product Code:			
Agency Notes:		Supplier Notes:			
Home Express Corp 👔	First Offer - \$172,353.35	1 / each	\$172,353.35		Y
Product Code:		Supplier Product Code:			

Agency Notes: Supplier Notes:

PNC2127807C1--01-183 Imported Item Lot: F & I, POWER AND DATA FOR GATES

Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
FG Construction LLC	First Offer - \$2,800.14	2 / each	\$5,600.28		Y
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
MCM 🙀	First Offer - \$9,500.00	2 / each	\$19,000.00		Y
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
Home Express Corp 🔓	First Offer - \$30,653.80	2 / each	\$61,307.60		Υ

Product Code: Supplier Product Code: Agency Notes: Supplier Notes:

PNC2127807C101-184 Impor	ted Item Lot: F & I, POWER FOR NEW LIF	T STATION			
Supplier	Unit Pri	ce Qty/Unit	Total Price	Attch.	Docs
MCM 👔	First Offer - \$14,000.0	0 1 / each	\$14,000.00		Y
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
Home Express Corp 👔	First Offer - \$23,756.7	0 1 / each	\$23,756.70		Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
FG Construction LLC	First Offer - \$100,804.8	3 1 / each	\$100,804.83		Y
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
PNC2127807C101-185 Impor	ted Item Lot: RAISED RUMBLE STRIP SET	Γ- PERMANENT			
Supplier	Unit Price	e Qty/Unit	Total Price	Attch.	Docs
Home Express Corp	First Offer - \$2,250.05	20 / each	\$45,001.00		Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
MCM 🙀	First Offer - \$2,800.00	20 / each	\$56,000.00		Y
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
FG Construction LLC	First Offer - \$2,800.14	20 / each	\$56,002.80		Y
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
PNC2127807C101-186 Impor	ted Item Lot: SINGLE POST SIGN, F & I, G	FROUND MOUNT, UP TO 12 SF			
PNC2127807C101-186 Impor Supplier	ted Item Lot: SINGLE POST SIGN, F & I, G Unit Price		Total Price	Attch.	Docs
•			Total Price \$13,873.68	Attch.	Docs Y
Supplier	Unit Price	Qty/Unit		Attch.	
Supplier Home Express Corp Product Code:	Unit Price	Qty/Unit 36 / each Supplier Product Code:		Attch.	
Supplier Home Express Corp Product Code: Agency Notes:	Unit Price First Offer - \$385.38	Qty/Unit 36 / each Supplier Product Code: Supplier Notes:	\$13,873.68	Attch.	Y
Supplier Home Express Corp Product Code: Agency Notes: MCM Product Code:	Unit Price First Offer - \$385.38	Qty/Unit 36 / each Supplier Product Code: Supplier Notes: 36 / each Supplier Product Code: Supplier Notes:	\$13,873.68	Attch.	Y
Supplier Home Express Corp Product Code: Agency Notes: MCM Product Code: Agency Notes:	Unit Price First Offer - \$385.38 First Offer - \$550.00	Qty/Unit 36 / each Supplier Product Code: Supplier Notes: 36 / each Supplier Product Code: Supplier Notes:	\$13,873.68 \$19,800.00	Attch.	Y
Supplier Home Express Corp Product Code: Agency Notes: MCM Product Code: Agency Notes: FG Construction LLC Product Code: Agency Notes:	Unit Price First Offer - \$385.38 First Offer - \$550.00	Qty/Unit 36 / each Supplier Product Code: Supplier Notes: 36 / each Supplier Product Code: Supplier Notes: 36 / each Supplier Product Code: Supplier Product Code: Supplier Product Code: Supplier Notes:	\$13,873.68 \$19,800.00	Attch.	Y
Supplier Home Express Corp Product Code: Agency Notes: MCM Product Code: Agency Notes: FG Construction LLC Product Code: Agency Notes:	Unit Price First Offer - \$385.38 First Offer - \$550.00 First Offer - \$784.03	Qty/Unit 36 / each Supplier Product Code: Supplier Notes: 36 / each Supplier Product Code: Supplier Notes: 36 / each Supplier Product Code: Supplier Product Code: Supplier Product Code: Supplier Notes:	\$13,873.68 \$19,800.00	Attch.	Y
Supplier Home Express Corp Product Code: Agency Notes: MCM Product Code: Agency Notes: FG Construction LLC Product Code: Agency Notes: PNC2127807C1-01-187 Impor	Unit Price First Offer - \$385.38 First Offer - \$550.00 First Offer - \$784.03	Qty/Unit 36 / each Supplier Product Code: Supplier Notes: 36 / each Supplier Product Code: Supplier Notes: 36 / each Supplier Product Code: Supplier Product Code: Supplier Product Code: Supplier Notes:	\$13,873.68 \$19,800.00 \$28,225.08		Y Y
Supplier Home Express Corp Product Code: Agency Notes: MCM Product Code: Agency Notes: FG Construction LLC Product Code: Agency Notes: PNC2127807C101-187 Import Supplier	Unit Price First Offer - \$385.38 First Offer - \$550.00 First Offer - \$784.03 ted Item Lot: SINGLE POST SIGN, REMO' Unit Price	Qty/Unit 36 / each Supplier Product Code: Supplier Notes: 36 / each Supplier Product Code: Supplier Notes: 36 / each Supplier Product Code: Supplier Product Code: Supplier Product Code: Supplier Notes:	\$13,873.68 \$19,800.00 \$28,225.08		Y Y Y Docs
Supplier Home Express Corp Product Code: Agency Notes: MCM Product Code: Agency Notes: FG Construction LLC Product Code: Agency Notes: PNC2127807C101-187 Import Supplier Home Express Corp Product Code:	Unit Price First Offer - \$385.38 First Offer - \$550.00 First Offer - \$784.03 ted Item Lot: SINGLE POST SIGN, REMO' Unit Price	Qty/Unit 36 / each Supplier Product Code: Supplier Notes: 36 / each Supplier Product Code: Supplier Notes: 36 / each Supplier Product Code: Supplier Product Code: Supplier Notes: VE Qty/Unit 23 / each Supplier Product Code:	\$13,873.68 \$19,800.00 \$28,225.08		Y Y Y Docs
Supplier Home Express Corp Product Code: Agency Notes: MCM Product Code: Agency Notes: FG Construction LLC Product Code: Agency Notes: PNC2127807C101-187 Import Supplier Home Express Corp Product Code: Agency Notes:	Unit Price First Offer - \$385.38 First Offer - \$550.00 First Offer - \$784.03 ted Item Lot: SINGLE POST SIGN, REMO' Unit Price First Offer - \$33.55	Qty/Unit 36 / each Supplier Product Code: Supplier Notes: 36 / each Supplier Product Code: Supplier Notes: 36 / each Supplier Product Code: Supplier Notes: VE Qty/Unit 23 / each Supplier Product Code: Supplier Notes:	\$13,873.68 \$19,800.00 \$28,225.08 Total Price \$771.65		Y Y Docs
Supplier Home Express Corp Product Code: Agency Notes: MCM Product Code: Agency Notes: FG Construction LLC Product Code: Agency Notes: PNC2127807C101-187 Import Supplier Home Express Corp Product Code: Agency Notes: FG Construction LLC Product Code: Agency Notes:	Unit Price First Offer - \$385.38 First Offer - \$550.00 First Offer - \$784.03 ted Item Lot: SINGLE POST SIGN, REMO' Unit Price First Offer - \$33.55	Qty/Unit 36 / each Supplier Product Code: Supplier Notes: 36 / each Supplier Product Code: Supplier Notes: 36 / each Supplier Product Code: Supplier Product Code: Supplier Notes: VE Qty/Unit 23 / each Supplier Product Code:	\$13,873.68 \$19,800.00 \$28,225.08 Total Price \$771.65		Y Y Docs

PNC2127807C101-188	Imported Item Lot: MULTI- POST SIGN, RELOCA	ATE			
Supplier		Qty/Unit	Total Price	Attch.	Docs
MCM 📓	First Offer - \$3,000.00		\$3,000.00		Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
Home Express Corp 👔	First Offer - \$4,520.61	1 / each	\$4,520.61		Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
FG Construction LLC	First Offer - \$16,240.77	1 / each	\$16,240.77		Y
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
PNC2127807C101-189	Imported Item Lot: MULTI- POST SIGN, REMOV	E			
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
Home Express Corp 👔	First Offer - \$734.98	1 / each	\$734.98		Y
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
мсм 📦	First Offer - \$950.00	1 / each	\$950.00		Y
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
FG Construction LLC	First Offer - \$1,680.08	1 / each	\$1,680.08		Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
PNC2127807C101-190	Imported Item Lot: SIGN PANEL, FURNISH & IN	ISTALL OVERHEAD MOUNT.	101-200 SF		
PNC2127807C101-190 Supplier	Imported Item Lot: SIGN PANEL, FURNISH & IN Unit Price	ISTALL OVERHEAD MOUNT, Qty/Unit	101-200 SF Total Price	Attch.	Docs
	•	Qty/Unit		Attch.	Docs Y
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	
Supplier Home Express Corp Product Code:	Unit Price	Qty/Unit 4 / each Supplier Product Code: Supplier Notes:	Total Price	Attch.	
Supplier Home Express Corp Product Code: Agency Notes:	Unit Price First Offer - \$5,719.65	Qty/Unit 4 / each Supplier Product Code: Supplier Notes:	Total Price \$22,878.60	Attch.	Y
Supplier Home Express Corp Product Code: Agency Notes: FG Construction LLC Product Code:	Unit Price First Offer - \$5,719.65	Qty/Unit 4 / each Supplier Product Code: Supplier Notes: 4 / each Supplier Product Code: Supplier Notes:	Total Price \$22,878.60	Attch.	Y
Supplier Home Express Corp Product Code: Agency Notes: FG Construction LLC Product Code: Agency Notes:	Unit Price First Offer - \$5,719.65 First Offer - \$10,455.76	Qty/Unit 4 / each Supplier Product Code: Supplier Notes: 4 / each Supplier Product Code: Supplier Notes:	Total Price \$22,878.60 \$41,823.04	Attch.	Y
Supplier Home Express Corp Product Code: Agency Notes: FG Construction LLC Product Code: Agency Notes: MCM Product Code: Agency Notes:	Unit Price First Offer - \$5,719.65 First Offer - \$10,455.76	Qty/Unit 4 / each Supplier Product Code: Supplier Notes: 4 / each Supplier Product Code: Supplier Notes: 4 / each Supplier Product Code: Supplier Product Code: Supplier Product Code: Supplier Notes:	Total Price \$22,878.60 \$41,823.04	Attch.	Y
Supplier Home Express Corp Product Code: Agency Notes: FG Construction LLC Product Code: Agency Notes: MCM Product Code: Agency Notes:	Unit Price First Offer - \$5,719.65 First Offer - \$10,455.76 First Offer - \$12,700.00	Qty/Unit 4 / each Supplier Product Code: Supplier Notes: 4 / each Supplier Product Code: Supplier Notes: 4 / each Supplier Product Code: Supplier Product Code: Supplier Product Code: Supplier Notes:	Total Price \$22,878.60 \$41,823.04	Attch.	Y
Supplier Home Express Corp Product Code: Agency Notes: FG Construction LLC Product Code: Agency Notes: MCM Product Code: Agency Notes: Product Code: Agency Notes:	Unit Price First Offer - \$5,719.65 First Offer - \$10,455.76 First Offer - \$12,700.00 Imported Item Lot: SIGN PANEL, INSTALL, UP T Unit Price	Qty/Unit 4 / each Supplier Product Code: Supplier Notes: 4 / each Supplier Product Code: Supplier Notes: 4 / each Supplier Product Code: Supplier Product Code: Supplier Product Code: Supplier Notes:	Total Price \$22,878.60 \$41,823.04 \$50,800.00		Y Y
Supplier Home Express Corp Product Code: Agency Notes: FG Construction LLC Product Code: Agency Notes: MCM Product Code: Agency Notes: PNC2127807C101-191 Supplier MCM Product Code:	Unit Price First Offer - \$5,719.65 First Offer - \$10,455.76 First Offer - \$12,700.00 Imported Item Lot: SIGN PANEL, INSTALL, UP T Unit Price First Offer - \$285.00	Qty/Unit 4 / each Supplier Product Code: Supplier Notes: 4 / each Supplier Product Code: Supplier Notes: 4 / each Supplier Product Code: Supplier Product Code: Supplier Notes: TO 12 FT Qty/Unit 1 / each Supplier Product Code:	**Total Price		Y Y Y Docs
Supplier Home Express Corp Product Code: Agency Notes: FG Construction LLC Product Code: Agency Notes: MCM Product Code: Agency Notes: PNC2127807C101-191 Supplier MCM Product Code: Agency Notes:	Unit Price First Offer - \$5,719.65 First Offer - \$10,455.76 First Offer - \$12,700.00 Imported Item Lot: SIGN PANEL, INSTALL, UP T Unit Price First Offer - \$285.00	Qty/Unit 4 / each Supplier Product Code: Supplier Notes: 4 / each Supplier Product Code: Supplier Notes: 4 / each Supplier Product Code: Supplier Product Code: Supplier Product Code: Supplier Notes:	**Total Price		Y Y Y Docs
Supplier Home Express Corp Product Code: Agency Notes: FG Construction LLC Product Code: Agency Notes: MCM Product Code: Agency Notes: PNC2127807C101-191 Supplier MCM Product Code:	First Offer - \$5,719.65 First Offer - \$10,455.76 First Offer - \$12,700.00 Imported Item Lot: SIGN PANEL, INSTALL, UP T	Qty/Unit 4 / each Supplier Product Code: Supplier Notes: 4 / each Supplier Product Code: Supplier Notes: 4 / each Supplier Product Code: Supplier Product Code: Supplier Notes: TO 12 FT Qty/Unit 1 / each Supplier Product Code: Supplier Notes:	**Total Price		Y Y Pocs Y
Supplier Home Express Corp Product Code: Agency Notes: FG Construction LLC Product Code: Agency Notes: MCM Product Code: Agency Notes: PNC2127807C101-191 Supplier MCM Product Code: Agency Notes: Home Express Corp Product Code:	First Offer - \$5,719.65 First Offer - \$10,455.76 First Offer - \$12,700.00 Imported Item Lot: SIGN PANEL, INSTALL, UP T	Qty/Unit 4 / each Supplier Product Code: Supplier Notes: 4 / each Supplier Product Code: Supplier Notes: 4 / each Supplier Product Code: Supplier Notes: TO 12 FT Qty/Unit 1 / each Supplier Product Code: Supplier Notes: 1 / each Supplier Product Code: Supplier Product Code: Supplier Product Code: Supplier Notes:	**Total Price		Y Y Pocs Y
Supplier Home Express Corp Product Code: Agency Notes: FG Construction LLC Product Code: Agency Notes: MCM Product Code: Agency Notes: PNC2127807C101-191 Supplier MCM Product Code: Agency Notes: Home Express Corp Product Code: Agency Notes:	First Offer - \$5,719.65 First Offer - \$10,455.76 First Offer - \$12,700.00 Imported Item Lot: SIGN PANEL, INSTALL, UP T	Qty/Unit 4 / each Supplier Product Code: Supplier Notes: 4 / each Supplier Product Code: Supplier Notes: 4 / each Supplier Product Code: Supplier Product Code: Supplier Notes: TO 12 FT Qty/Unit 1 / each Supplier Product Code: Supplier Notes: 1 / each Supplier Notes:	**Total Price \$22,878.60 \$41,823.04 \$50,800.00 **Total Price \$285.00 \$669.99		Y Y Docs Y

	Broward Coun County Comn			Exhib Page 47 of	
Supplier		e Qty/Unit	Total Price	Attch.	Docs
MCM 🙀	First Offer - \$8,200.00	-	\$8,200.00		Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
FG Construction LLC	First Offer - \$10,504.57	′ 1 / each	\$10,504.57		Y
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
Home Express Corp 👔	First Offer - \$22,815.30	1 / each	\$22,815.30		Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
PNC2127807C101-193	Imported Item Lot: HIGHLIGHTED SIGN, F & I,	GROUND MOUNT-AC POWE	RED. UP TO 12 SF		
Supplier	•	e Qty/Unit	Total Price	Attch.	Docs
Home Express Corp	First Offer - \$3,541.28	-	\$7,082.56		Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
FG Construction LLC	First Offer - \$5,896.35		\$11,792.70		Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
MCM 🕞	First Offer - \$22,000.00	2 / each	\$44,000.00		Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
PNC2127807C101-194	Imported Item Lot: RAISED PAVEMENT MARKE	ER, TYPE B			
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
мсм 👔	First Offer - \$4.50	270 / each	\$1,215.00		Y
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
Home Express Corp 👔	First Offer - \$6.81	270 / each	\$1,838.70		Y
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
FG Construction LLC 👔	First Offer - \$11.20	270 / each	\$3,024.00		Y
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
	Imported Item Lot: PAINTED PAVEMENT MARI				
Supplier		e Qty/Unit	Total Price	Attch.	Docs
MCM 🙀	First Offer - \$26,000.00	·	\$26,000.00		Y
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
Home Express Corp 👔	First Offer - \$44,763.83	3 1 / lump sum	\$44,763.83		Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
FG Construction LLC	First Offer - \$78,403.76	5 1 / lump sum	\$78,403.76		Y
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
PNC2127807C1_01_106	Imported Item Lot: PAINTED PAVEMENT MAR	KINGS STANDARD WHITE S	מוום פיואכה		
Supplier	Unit Price		Total Price	Attch.	Docs
MCM 👔	First Offer - \$1,550.00	-	\$5,000.30		Y

Broward County Board of Exhibit 1 **County Commissioners** Page 48 of 54 **Product Code: Supplier Product Code: Agency Notes: Supplier Notes:** 3.226 / lane mile \$7,248.951 Υ Home Express Corp 🔓 First Offer - \$2,247.04 **Product Code: Supplier Product Code: Agency Notes: Supplier Notes:** FG Construction LLC First Offer - \$3,833.94 3.226 / lane mile \$12,368.2904 Υ **Product Code: Supplier Product Code: Supplier Notes: Agency Notes:**

PNC2127807C1--01-197 Imported Item Lot: PAINTED PAVEMENT MARKINGS, STANDARD, WHITE, SOLID FOR INTERCHANGE AND URBAN ISLA

Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
МСМ 🙀	First Offer - \$2,100.00	1.895 / lane mile	\$3,979.50		Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
Home Express Corp 👔	First Offer - \$2,386.55	1.895 / lane mile	\$4,522.5123		Y
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
FG Construction LLC	First Offer - \$4,729.98	1.895 / lane mile	\$8,963.3121		Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			

PNC2127807C1-01-198 Imported Item Lot: PAINTED PAVEMENT MARKINGS, STANDARD, WHITE, SOLID FOR INTERCHANGE MARKINGS, 12-I

Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
MCM 👔	First Offer - \$2,200.00	0.095 / lane mile	\$209.00		Υ
Product Code:		Supplier Product Code:			
Agency Notes:		Supplier Notes:			
Home Express Corp 🙀	First Offer - \$5,618.68	0.095 / lane mile	\$533.7746		Y
Product Code:		Supplier Product Code:			
Agency Notes:		Supplier Notes:			
FG Construction LLC	First Offer - \$15,376.09	0.095 / lane mile	\$1,460.7286		Υ
Product Code:		Supplier Product Code:			
Agency Notes:		Supplier Notes:			

PNC2127807C1--01-199 Imported Item Lot: PAINTED PAVEMENT MARKINGS, STANDARD, WHITE, SOLID FOR DIAGONAL OR CHEVRON, 18-IN

Unit Price	Qty/Unit	Total Price	Attch.	Docs
First Offer - \$1.20	2105 / linear foot	\$2,526.00		Y
	Supplier Product Code:			
	Supplier Notes:			
First Offer - \$3.01	2105 / linear foot	\$6,336.05		Υ
	Supplier Product Code:			
	Supplier Notes:			
First Offer - \$4.36	2105 / linear foot	\$9,177.80		Υ
	Supplier Product Code:			
	Supplier Notes:			
	First Offer - \$1.20	Supplier Product Code: Supplier Notes: First Offer - \$3.01 2105 / linear foot Supplier Product Code: Supplier Notes: First Offer - \$4.36 2105 / linear foot Supplier Product Code:	First Offer - \$1.20 2105 / linear foot \$2,526.00 Supplier Product Code: Supplier Notes: First Offer - \$3.01 2105 / linear foot \$6,336.05 Supplier Product Code: Supplier Notes: First Offer - \$4.36 2105 / linear foot \$9,177.80 Supplier Product Code:	First Offer - \$1.20 2105 / linear foot \$2,526.00 Supplier Product Code: Supplier Notes: First Offer - \$3.01 2105 / linear foot \$6,336.05 Supplier Product Code: Supplier Notes: First Offer - \$4.36 2105 / linear foot \$9,177.80 Supplier Product Code:

PNC2127807C1-01-200 Imported Item Lot: PAINTED PAVEMENT MARKINGS, STANDARD, WHITE, SKIP, 10-30 OR 3-9 SKIP, 6-INCH. WID Supplier Unit Price Qty/Unit Total Price Attch. Docs FG Construction LLC () First Offer - \$3.40 3.032 / lane mile \$10.3088 Y

Broward County Board of Exhibit 1 **County Commissioners** Page 49 of 54 **Product Code:** Supplier Product Code: **Agency Notes:** Supplier Notes: MCM 🙀 First Offer - \$550.00 3.032 / lane mile \$1,667.60 Υ **Product Code:** Supplier Product Code: **Agency Notes: Supplier Notes:** First Offer - \$922.87 3.032 / lane mile \$2,798,1418 Υ Home Express Corp 🍃 **Product Code:** Supplier Product Code: **Supplier Notes: Agency Notes:** PNC2127807C1--01-201 Imported Item Lot: PAINTED PAVEMENT MARKINGS, STANDARD, WHITE, MESSAGE OR SYMBOL Unit Price Qty/Unit **Total Price Supplier** Attch. **Docs** мсм 🔓 First Offer - \$42.00 52 / each \$2,184.00 Υ **Product Code: Supplier Product Code: Agency Notes: Supplier Notes:** First Offer - \$83.88 52 / each \$4,361.76 Υ Home Express Corp **Product Code: Supplier Product Code: Agency Notes: Supplier Notes:** 52 / each Υ FG Construction LLC First Offer - \$112.01 \$5,824.52 **Product Code: Supplier Product Code: Agency Notes: Supplier Notes:** PNC2127807C1--01-202 Imported Item Lot: PAINTED PAVEMENT MARKINGS, STANDARD, WHITE, ARROW **Supplier** Unit Price Qty/Unit **Total Price** Attch. Docs MCM 🔓 First Offer - \$42.00 34 / each \$1,428.00 Υ **Product Code: Supplier Product Code: Agency Notes: Supplier Notes:** First Offer - \$62.20 34 / each \$2,114.80 Υ Home Express Corp **Product Code: Supplier Product Code: Agency Notes: Supplier Notes:** FG Construction LLC First Offer - \$95.20 34 / each \$3,236,80 Υ **Product Code: Supplier Product Code: Supplier Notes: Agency Notes:** PNC2127807C1--01-203 Imported Item Lot: PAINTED PAVEMENT MARKINGS, STANDARD, YELLOW, SOLID, 6-INCH. Unit Price Qty/Unit **Supplier Total Price** Attch. **Docs** мсм 🔓 First Offer - \$2,000.00 3.342 / lane mile \$6,684.00 Υ **Product Code: Supplier Product Code: Supplier Notes: Agency Notes:** Home Express Corp 🍃 First Offer - \$2,297.42 3.342 / lane mile \$7,677.9776 Υ **Product Code: Supplier Product Code: Agency Notes: Supplier Notes:** FG Construction LLC First Offer - \$3,613.29 3.342 / lane mile \$12,075.6152 Υ **Product Code: Supplier Product Code: Agency Notes: Supplier Notes:** PNC2127807C1--01-204 Imported Item Lot: PAINTED PAVEMENT MARKINGS, STANDARD, YELLOW, SOLID FOR INTERCHANGE AND **URBAN ISL Supplier** Unit Price Qty/Unit **Total Price** Attch. Docs мсм 🔓 First Offer - \$2,000.00 0.052 / lane mile Υ \$104.00 **Product Code: Supplier Product Code: Supplier Notes: Agency Notes:**

Agency Notes:

Supplier Notes:

PNC2127807C101-205	Imported Item Lot: THERMOPLASTIC, STANDA	ARD, WHITE, SOLID, 8-INCH.	FOR INTERCHANGE	MARKING	S
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
МСМ 🙀	First Offer - \$2,100.00	0.271 / lane mile	\$569.10		Y
Product Code:		Supplier Product Code:			
Agency Notes:		Supplier Notes:			
Home Express Corp 👔	First Offer - \$12,726.69	0.271 / lane mile	\$3,448.933		Υ
Product Code:		Supplier Product Code:			
Agency Notes:		Supplier Notes:			
FG Construction LLC	First Offer - \$17,741.66	0.271 / lane mile	\$4,807.9899		Y
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			

PNC2127807C101-206	Imported Item Lot: THERMOPLASTIC, STAN	IDARD, WHITE, SOLID, 18-IN	ICH. FOR DIAGONALS	AND CHEVI	RONS
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
FG Construction LLC	First Offer - \$5.04	487 / linear foot	\$2,454.48		Y
Product Code:		Supplier Product Code:			
Agency Notes:		Supplier Notes:			
МСМ 👔	First Offer - \$5.50	487 / linear foot	\$2,678.50		Υ
Product Code:		Supplier Product Code:			
Agency Notes:		Supplier Notes:			
Home Express Corp 👔	First Offer - \$8.30	487 / linear foot	\$4,042.10		Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			

PNC2127807C101-207	Imported Item Lot: THERMOPLASTIC, STAND	ARD, WHITE, SOLID, 24-INC	H. FOR STOP LINE AI	ND CROSSV	VALK
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
FG Construction LLC	First Offer - \$6.72	31 / linear foot	\$208.32		Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
мсм 📦	First Offer - \$7.00	31 / linear foot	\$217.00		Y
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
Home Express Corp 👔	First Offer - \$10.33	31 / linear foot	\$320.23		Y
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			

PNC2127807C101-208	Imported Item Lot: THERMOPLASTIC, STAND	ARD, WHITE, 2-4 DOTTED GUIDE	LINE/ 6-10 GAP	EXTENSION	I, 6-INCH
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
Home Express Corp 👔	First Offer - \$1.41	20 / linear foot	\$28.20		Y
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
МСМ 🙀	First Offer - \$2.10	20 / linear foot	\$42.00		Υ
Product Code:		Supplier Product Code:			

Supplier Notes:

Exhibit 1 Page 51 of 54

Υ

Agency Notes:

First Offer - \$11.20 20 / linear foot \$224.00 FG Construction LLC

Product Code: Supplier Product Code: Supplier Notes: Agency Notes:

PNC2127807C101-209	Imported Item Lot: THERMOPLASTIC, STANDARD, WHITE, MESSAGE OR SYMBOL

Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
Home Express Corp 👔	First Offer - \$281.60	14 / each	\$3,942.40		Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
FG Construction LLC 👔	First Offer - \$448.02	14 / each	\$6,272.28		Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
MCM 👔	First Offer - \$2,800.00	14 / each	\$39,200.00		Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			

PNC2127807C1--01-210 Imported Item Lot: THERMOPLASTIC, STANDARD, WHITE, ARROW

Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
MCM 🙀	First Offer - \$60.00	6 / each	\$360.00		Y
Product Code:		Supplier Product Code:			
Agency Notes:		Supplier Notes:			
Home Express Corp 🙀	First Offer - \$133.46	6 / each	\$800.76		Y
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
FG Construction LLC	First Offer - \$168.01	6 / each	\$1,008.06		Y
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			

PNC2127807C1--01-211 Imported Item Lot: THERMOPLASTIC, STANDARD, WHITE, YIELD LINE

Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
мсм 👔	First Offer - \$16.00	55 / linear foot	\$880.00		Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
Home Express Corp 👔	First Offer - \$18.00	55 / linear foot	\$990.00		Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
FG Construction LLC 👔	First Offer - \$56.00	55 / linear foot	\$3,080.00		Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			

PNC2127807C1--01-212 Imported Item Lot: THERMOPLASTIC, STANDARD, YELLOW, MESSAGE OR SYMBOL

Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
MCM 🙀	First Offer - \$105.00	2 / each	\$210.00		Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
Home Express Corp 👔	First Offer - \$157.33	2 / each	\$314.66		Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
FG Construction LLC 👔	First Offer - \$560.03	2 / each	\$1,120.06		Y

Exhibit 1 Page 52 of 54

Product Code: Supplier Product Code: Agency Notes: Supplier Notes:

PNC2127807C101-213 Imported Item Lot: THERMOPLASTIC, STANDARD, YELLOW, SOLID, 18-INCH. FOR DIAGONAL OR CHEVRON						
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs	
МСМ 👔	First Offer - \$5.50	619 / linear foot	\$3,404.50		Y	
Product Code: Agency Notes:		upplier Product Code: upplier Notes:				
Home Express Corp 👔	First Offer - \$8.00	619 / linear foot	\$4,952.00		Υ	
Product Code: Agency Notes:		upplier Product Code: upplier Notes:				
FG Construction LLC	First Offer - \$8.06	619 / linear foot	\$4,989.14		Y	
Product Code: Agency Notes:		upplier Product Code: upplier Notes:				
PNC2127807C101-214	Imported Item Lot: THERMOPLASTIC, STAND	ARD, WHITE, SKIP, 6-INCH.,	10-30 SKIP OR 3-9 LA	NE DROP		
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs	
МСМ 👔	First Offer - \$1,500.00	1.194 / lane mile	\$1,791.00		Y	
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:				
Home Express Corp 👔	First Offer - \$3,758.70	1.194 / lane mile	\$4,487.8878		Y	
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:				
FG Construction LLC	First Offer - \$14,193.32	1.194 / lane mile	\$16,946.8241		Y	
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:				
Agency Notes.		саррист тоссо.				
	Imported Item Lot: THEROMPLASTIC, STAND		TE, SOLID, 6-INCH.			
	•		TE, SOLID, 6-INCH. Total Price	Attch.	Docs	
PNC2127807C101-215	•	ARD-OTHER SURFACES, WHI		Attch.	Docs Y	
PNC2127807C101-215 Supplier	Unit Price First Offer - \$6,000.00	ARD-OTHER SURFACES, WHI Qty/Unit 0.997 / lane mile Supplier Product Code: Supplier Notes:	Total Price	Attch.		
PNC2127807C101-215 Supplier MCM Product Code:	Unit Price	ARD-OTHER SURFACES, WHI Qty/Unit 0.997 / lane mile Supplier Product Code: Supplier Notes:	Total Price	Attch.		
PNC2127807C101-215 Supplier MCM Product Code: Agency Notes:	Unit Price First Offer - \$6,000.00	ARD-OTHER SURFACES, WHI Qty/Unit 0.997 / lane mile Supplier Product Code: Supplier Notes:	Total Price \$5,982.00	Attch.	Y	
PNC2127807C101-215 Supplier MCM Product Code: Agency Notes: Home Express Corp Product Code:	Unit Price First Offer - \$6,000.00	ARD-OTHER SURFACES, WHI Qty/Unit 0.997 / lane mile Supplier Product Code: Supplier Notes: 0.997 / lane mile Supplier Product Code: Supplier Product Code: Supplier Notes:	Total Price \$5,982.00	Attch.	Y	
PNC2127807C101-215 Supplier MCM Product Code: Agency Notes: Home Express Corp Product Code: Agency Notes:	Unit Price First Offer - \$6,000.00 First Offer - \$8,664.10	ARD-OTHER SURFACES, WHI Qty/Unit 0.997 / lane mile Supplier Product Code: Supplier Notes: 0.997 / lane mile Supplier Product Code: Supplier Product Code: Supplier Notes:	Total Price \$5,982.00 \$8,638.1077	Attch.	Y	
PNC2127807C101-215 Supplier MCM Product Code: Agency Notes: Home Express Corp Product Code: Agency Notes: FG Construction LLC Product Code: Agency Notes:	First Offer - \$8,664.10 First Offer - \$14,193.32 Imported Item Lot: THEROMPLASTIC, STAND	ARD-OTHER SURFACES, WHI Qty/Unit 0.997 / lane mile Supplier Product Code: Supplier Notes: 0.997 / lane mile Supplier Product Code: Supplier Product Code: Supplier Notes: 0.997 / lane mile Supplier Product Code: Supplier Product Code: Supplier Product Code: Supplier Notes:	**Total Price \$5,982.00 ***\$,638.1077 ***********************************		Y	
PNC2127807C101-215 Supplier MCM Product Code: Agency Notes: Home Express Corp Product Code: Agency Notes: FG Construction LLC Product Code: Agency Notes: PNC2127807C101-216 Supplier	First Offer - \$8,664.10 First Offer - \$14,193.32 Imported Item Lot: THEROMPLASTIC, STAND Unit Price	ARD-OTHER SURFACES, WHI Qty/Unit 0.997 / lane mile Supplier Product Code: Supplier Notes: 0.997 / lane mile Supplier Product Code: Supplier Notes: 0.997 / lane mile Supplier Product Code: Supplier Product Code: Supplier Product Code: Supplier Notes:	**Total Price \$5,982.00 \$8,638.1077 \$14,150.74 ***LOW, SOLID, 6-INCH Total Price		Y Y Y Docs	
PNC2127807C101-215 Supplier MCM Product Code: Agency Notes: Home Express Corp Product Code: Agency Notes: FG Construction LLC Product Code: Agency Notes:	First Offer - \$8,664.10 First Offer - \$14,193.32 Imported Item Lot: THEROMPLASTIC, STAND	ARD-OTHER SURFACES, WHI Qty/Unit 0.997 / lane mile Supplier Product Code: Supplier Notes: 0.997 / lane mile Supplier Product Code: Supplier Notes: 0.997 / lane mile Supplier Product Code: Supplier Product Code: Supplier Product Code: Supplier Notes:	**Total Price \$5,982.00 \$8,638.1077 \$14,150.74		Y Y	
PNC2127807C101-215 Supplier MCM Product Code: Agency Notes: Home Express Corp Product Code: Agency Notes: FG Construction LLC Product Code: Agency Notes: PNC2127807C101-216 Supplier MCM Product Code: Agency Notes:	Unit Price First Offer - \$6,000.00 First Offer - \$8,664.10 First Offer - \$14,193.32 Imported Item Lot: THEROMPLASTIC, STAND Unit Price First Offer - \$5,700.00	ARD-OTHER SURFACES, WHI Qty/Unit 0.997 / lane mile Supplier Product Code: Supplier Notes: 0.997 / lane mile Supplier Product Code: Supplier Notes: 0.997 / lane mile Supplier Product Code: Supplier Product Code: Supplier Notes: ARD-OTHER SURFACES, YELI Qty/Unit 0.892 / lane mile Supplier Product Code: Supplier Product Code: Supplier Product Code: Supplier Product Code: Supplier Notes:	**Total Price \$5,982.00 \$8,638.1077 \$14,150.74 **LOW, SOLID, 6-INCH Total Price \$5,084.40		Y Y Docs Y	
PNC2127807C101-215 Supplier MCM Product Code: Agency Notes: Home Express Corp Product Code: Agency Notes: FG Construction LLC Product Code: Agency Notes: PNC2127807C101-216 Supplier MCM Product Code:	First Offer - \$8,664.10 First Offer - \$14,193.32 Imported Item Lot: THEROMPLASTIC, STAND Unit Price	ARD-OTHER SURFACES, WHI Qty/Unit 0.997 / lane mile Supplier Product Code: Supplier Notes: 0.997 / lane mile Supplier Product Code: Supplier Notes: 0.997 / lane mile Supplier Product Code: Supplier Product Code: Supplier Notes: ARD-OTHER SURFACES, YELI Qty/Unit 0.892 / lane mile Supplier Product Code: Supplier Product Code: Supplier Product Code: Supplier Product Code: Supplier Notes:	**Total Price \$5,982.00 \$8,638.1077 \$14,150.74 ***LOW, SOLID, 6-INCH Total Price		Y Y Y Docs	
PNC2127807C101-215 Supplier MCM Product Code: Agency Notes: Home Express Corp Product Code: Agency Notes: FG Construction LLC Product Code: Agency Notes: PNC2127807C101-216 Supplier MCM Product Code: Agency Notes:	First Offer - \$6,000.00 First Offer - \$8,664.10 First Offer - \$14,193.32 Imported Item Lot: THEROMPLASTIC, STAND Unit Price First Offer - \$5,700.00 First Offer - \$7,737.00	ARD-OTHER SURFACES, WHI Qty/Unit 0.997 / lane mile Supplier Product Code: Supplier Notes: 0.997 / lane mile Supplier Product Code: Supplier Notes: 0.997 / lane mile Supplier Product Code: Supplier Product Code: Supplier Product Code: Supplier Notes: ARD-OTHER SURFACES, YELI Qty/Unit 0.892 / lane mile Supplier Product Code: Supplier Notes: 0.892 / lane mile Supplier Product Code: Supplier Product Code: Supplier Product Code: Supplier Product Code: Supplier Notes:	**Total Price \$5,982.00 \$8,638.1077 \$14,150.74 **LOW, SOLID, 6-INCH Total Price \$5,084.40		Y Y Docs Y	
PNC2127807C101-215 Supplier MCM Product Code: Agency Notes: Home Express Corp Product Code: Agency Notes: FG Construction LLC Product Code: Agency Notes: PNC2127807C101-216 Supplier MCM Product Code: Agency Notes: Home Express Corp Product Code:	Unit Price First Offer - \$6,000.00 First Offer - \$8,664.10 First Offer - \$14,193.32 Imported Item Lot: THEROMPLASTIC, STAND Unit Price First Offer - \$5,700.00	ARD-OTHER SURFACES, WHI Qty/Unit 0.997 / lane mile Supplier Product Code: Supplier Notes: 0.997 / lane mile Supplier Product Code: Supplier Notes: 0.997 / lane mile Supplier Product Code: Supplier Product Code: Supplier Product Code: Supplier Notes: ARD-OTHER SURFACES, YELI Qty/Unit 0.892 / lane mile Supplier Product Code: Supplier Notes: 0.892 / lane mile Supplier Product Code: Supplier Product Code: Supplier Product Code: Supplier Product Code: Supplier Notes:	**Total Price \$5,982.00 \$8,638.1077 \$14,150.74 **LOW, SOLID, 6-INCH Total Price \$5,084.40		Y Y Docs Y	

PNC2127807C101-217	Imported Item Lot: THEROMPLASTIC, STANDA	ARD-OTHER SURFACES, YELL	.OW, SOLID, 8-in.		
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
МСМ 🙀	First Offer - \$5,000.00	0.015 / lane mile	\$75.00		Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
FG Construction LLC	First Offer - \$14,193.32	0.015 / lane mile	\$212.8998		Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
Home Express Corp 👔	First Offer - \$15,486.99	0.015 / lane mile	\$232.3048		Y
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
PNC2127807C101-218	Imported Item Lot: PERMANENT TAPE, WHITE	, SOLID, 6-INCH. FOR CONC	RETE BRIDGES		
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
МСМ 🙀	First Offer - \$53,000.00	0.014 / lane mile	\$742.00		Y
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
Home Express Corp 👔	First Offer - \$54,060.48	0.014 / lane mile	\$756.8467		Y
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
FG Construction LLC 👔	First Offer - \$291,213.96	0.014 / lane mile	\$4,076.9954		Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
PNC2127807C101-219	Imported Item Lot: PERMANENT TAPE, YELLO	W. SOLID. 6-INCH. FOR CON	ICRETE BRIDGES		
Supplier	·	Qty/Unit	Total Price	Attch.	Docs
MCM 🙀	First Offer - \$44,000.00	0.017 / lane mile	\$748.00		Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
Home Express Corp 🔓	First Offer - \$53,872.16	0.017 / lane mile	\$915.8267		Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
FG Construction LLC	First Offer - \$291,213.96	0.017 / lane mile	\$4,950.6373		Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
Supplier Totals					
f Home Express Corp		\$11.974.922	.8086 (219/219 it	ems)	
2xp. cos coi p		7:1,3,7-1,3 <u>2</u> 2		,	

Bid Contact Matias Otero Address 4478 Rainbow Ave

agustin@he-builders.com Weston, FL 33332

Ph 786-326-9300

Qualifications CBE MBE SBE

Bid Bond (Status: Authorized on May 31, 2024)

Agency Notes: Supplier Notes: Head Attch:

Bid Allowance \$400,000.00

f MCM \$12,833,653.032 (219/219 items)

Broward County Board of County Commissioners

Exhibit 1 Page 54 of 54

Bid Contact Daniel Munilla

yassir@mcm-us.com Ph 305-541-0000 Address 6201 SW 70th Street 1st Floor Miami, FL 33143

Address 2701 NW 55th Ct

Tamarac, FL 33309

Supplier Notes:

Bid Bond

·

(Status: Authorized on May 16, 2024)

Agency Notes:

Head Attch:

Ú

\$400,000.00

Bid Allowance

Bid Bond

f FG Construction LLC \$13,370,843.0457 (219/219 items)

Bid Contact Bao Dang

estimating@fgconstruction.com

Ph 954-856-4925

Qualifications CBE

(Status: Authorized on May 31, 2024)

Agency Notes: Supplier Notes: Head Attch:

Bid Allowance \$400,000.00

**